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Timing: 120 minutes

CENTURION DEFENCE ACADEMY

Name: ..vevveveieeenn,
M.M: 100

CDS ENGLISH TEST PAPER
INSTRUCTION: Read questions carefully. For each wrong answer, one-third (0.33) of the

marks assigned to that question will be deducted. Each question contains 1 mark.

1.

S1 : First and foremost, there are order and safety
in our civilization.

S6: Nobody may come and break into my house
and steal my goods.

P : Thus in disputes between man and man, right
has taken the place of might.

Q : If today | have a quarrel with another man, | do
not get beaten merely because | am physically
weaker.

R : |1 go to law, and the law will decide fairly
between the two of us.

S : Moreover, the law protects me from robbery
and violence.

The correct sequence should be

@RQPS (b)SRQP

(c)QRPS (dPRSQ

S1: In democratic countries, men are equal before
the law.

S6: And they live like this not for fun, but because
they are too poor to afford another room.

P : While some few people live in luxury, many
have not enough to eat, drink and wear.

Q : There are many families of five or six persons
who live in a single room.

R : But the sharing-out of money which means the
sharing-out of food and clothing and houses - is
still very unfair.

S : In this room they sleep and dress and wash
and eat, and in this same room they die.

The correct sequence should be

@RPQS (b)PRSQ

(c)QSPR dSPRQ

S1: Tomorrow it will be a year since we lost our
great leader.

S6: Though he is no more with us, the qualities he
possessed and die ideals he cherished remain
with us.

p : To these he added a feminine sensitiveness to
atmosphere.

Q : He was involved in the major events of his
time.

R : He participated in them all while maintaining
the highest standards of public conduct.

S : He was incomparably the greatest figure in our
history — a man of dynamic force, intellectual
power and profound vision.

The correct sequence should be

@PSRQ (b)RQPS
(©)RPQS dSPQR
S1 : It would be possible to adduce many

examples showing what could be done with the
limited means at our ancestor’s disposal in the way
of making life comfortable.

S6: | hope, in this essay, to make that connection
manifest.

P : What have comfort and cleanliness to do with
politics, morals, and religion ?

Q : But look more closely and you will discover that
there exists the closest connection between the
recent growth of comfort and the recent history of
ideas.

R : They show that if they lived in filth and
discomfort, it was because filth and discomfort
fitted in with their principles, political, moral and
religious.

S : At a first glance one would say that there could
be no causal connection between arm chairs and
democracies, sofas and the family system, hot
baths and religious orthodoxy.

The correct sequence should be

@PRQS b)RPSQ

(c)QSRP (dQSPR

S1: To most people, the term technology conjures
up images of mills or machines.

S6: It includes ways to make chemical reactions
occur, ways to breed fish, plant forests or teach
history.

P : The classic symbol of technology is still the
assembly line created by Henry Ford half a century
ago.

Q : The invention of the horse collar in the Middle
Ages led to changes in agricultural methods and
was as such a technological advance.

R : Moreover, technology includes techniques, as
well as the machines that may or may not be
necessary to apply them.

S : This symbol, however, has always been
inadequate, for technology’ has always been more
than factories and machines.

The correct sequence should be

@SPRQ b)PSQR

(c)RSPQ (dQSRP

S1 : Roderick Usher has always been a quiet
person who talked little of himself

S6: In the part of the country where he lived, the
“House of Usher” had come to mean both the
family and its ancestral mansion.

P : Many of his ancestors had been famous for
their artistic and musical abilities.

Q : Others were known for their exceptional
generosity and charity.

R : Yet | did know that his family was an old one.

S : So | did not know too much about him.

The correct sequence should be

@PQRS b)SRQP

(c)SPRQ (d)SRPQ

S1 : Mass production has increased the tendency
to view things as useful rather than delightful.
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S6: Indeed, a lowering of quality usually results
when mass production is substituted for more
primitive methods.

P : These various things share nothing with the
buttons except money value.

Q : All the rest you wish to exchange for food,
shelter, and many other things.

R : Suppose you arc a manufacturer of buttons :
however excellent your buttons may be, you do not
want more than a few for your own use.

S : And it is not even the money value of the
buttons that is important to you : what is important
is profit which may be increased by lowering their

quality.

The correct sequence should be
@PQRS b)RQPS
(c)SPQR (dQRPS

Directions: Each item in this section consists of a
sentence with an underlined word/words followed by
four words. Select the option that is opposite in
meaning to the underlined word/words and mark your
response on your Answer Sheet accordingly.
8. It was a mystery as to where the young girl had
acquired such a naive belief.
(a) credulous (b) childlike
(c) wise (d) innocent
9. It's the only treatment suitable for cancer.
(a) insufficient (b) impertinent
(c) befitting (d) congenial
10. Some of the criticisms which they had to put up
were very unfair.
(a) scold (b) scorn
(c) appreciation (d) censure
11. I would beg of all friends not to rush to Birla house
nor try to dissuade me or be anxious about me.
(a) certain (b) composed
(c) careless (d) heedless
12. It could not have been expected that, with such a
bent of mind of the people, there should have
been much activity for the cultivation of the
physical sciences in this part of the world.
(a) dull (b) dormant
(c) indolence (d) idle
13. Indian culture has been, from time immemorial, of
a peculiar cast and mould.
(a) common(b) customary

(c) natural (d) familiar
14. The princess charming was the centre of attraction
today.

(a) enchanting (b) hypnotic

(c) repulsive (d) fascinating
15. Macbeth is a/an abominable Figure.

(a) abhorrent (b) repugnant

(c) reputable (d) attractive
16. Terrorists profess fanatical ideology

(a) bigoted (b) militant

(c) moderate (d) fervid
17. Rakesh is vulnerable to political pressure

(a) weak (b) unguarded

(c) exposed (d) resilient
Directions: Each of the following sentences in this
section has a blank space with lout words or group of
words given. Select whichever word or group of words
you consider most appropriate for the blank space and

indicate your response on the Answer Sheet

accordingly.

18. One of India’'s greatest musicians is M S
Subbulakshmi, affectionately known to most
people as M.S. Her singing has brought .
(a) sorrow to millions of people not only

(b) joy
(c) boredom
(d) pain
19. all parts of India, but in
(a) over (b)on
(c) in (d)with
20. countries around the world as well.
(a) strange countries (b) unknown
(c) other (d) familiar
21. October 1966 Subbulakshmi was invited to
(a) Within (b) On
() In (d) By
22. in New’ York, where people of
(a) dance (b) sing
(c) speak (d) enjoy
23. countries listened to her music
(a) many foreign (b) few
(c) backward (d) all
24, This was one of the greatest
(a) attentively. (b) quietly.
(c) indifferently. (d) boldly.
25. ever given to any musician. For
(a)awards (b)honours
(c)prizes (d)recognitions
26. together M.S. kept that international
(a) seconds (b) minutes
(c) hours (d) days
27. spell-bound with the beauty of her voice

and her style of singing
(a) spectator (b) audience

(c) viewer (d) businessmen
28. The Second Anglo-Maratha War had shattered
the
(a) power (b) dignity
(c) time (d) patience
29. Maratha chiefs, but not their spirit.
The
(a) disappearance (b) empowerment
(c) loss (d) disappointment
30. freedom rankled in their hearts. They made a last
attempt
(a) horrible attempt (b) desperate
(c) poor (d) strong

31. The lead to regain their independence and
old in 1817.
(a) prestige (b) army
(c) rebellion (d) infantry
32. The lead in organizing a united front of the
Maratha chiefs was taken by the Peshwa who was
smarting under the control exercised by
the British Resident.
(a) pleasant (b) satisfying
(c) rigid (d) orthodox
Directions: Given below are some idioms / phrases
followed by four alternative meanings to each. Choose
the response (a), (b), (c) or (d) which is the most
appropriate expression
33. A hot potato
(a) A dish to relish when it is hot
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34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44,

45,

46.

47,

(b) A very important person in a gathering

(c) An issue which is disputed, and catching the
attention of people

(d) A way of thinking what someone is thinking
You snooze, you lose.

(a) Don’t take it lightly

(b) Don’t be over-enthusiastic

(c) Don’t hesitate to do it

(d) Don’t be pessimistic

1 don’t buy it.

(a) I don’t believe it (b) | have no money

(c) I summarize it (d) I don’t need it

My two cents.

(a) My money

(c) My decision
Out of the blue.
(a) Undoubtedly
(c). Unbelievably
What a small world
(a) What a coincidence

(b) What a challenging task
(c) What a narrow space
(d) What a beautiful place
Down the road.
(@) In future

(c) At present
Raising eyebrows.
(a) To show surprise
(c) Support

Step up the plate.

(a) Take control

(b) Take a job

(c) Take a responsibility
(d) Take an opportunity
The Holy Grail.

(a) The pious place of worship

(b) An important object or goal

(c) A very important place

(d) Someone’s destination of life

You scratch my back. I'll scratch yours.

(a) Mutual favour

(b) Mutual understanding

(c) Mutual respect

(d) Mutual disliking

At the drop of a hat.

(a) Without any hesitation

(b) When attempt fails and it’s time to start all over
(c) To further a loss with mockery

(d) Judging other’s intentions too much

Ball is in your court.

(a) Be happy at the dance / ball room

(b) It's up to you to make the decision

(c) A very powerful person

(d) Not speaking directly about an issue

Best of both worlds.

(a) A happy person who is the best with all

(b) All the advantages

(c) To take on a task that is way too big

(d) Someone whom everybody likes

Costs an arm and a leg.

(a) Severe punishment to someone

(b) Too much consciousness about one’s body
(c) Two difficult alternatives

(d) Something very expensive

(b) My opinion
(d) My explanation

(b) Unexpectedly
(d) Unconcerned

(b) In the past
(d) No particular time

(b) Criticize
(d) Instruct

48. In the face of the overwhelming mass of evidence
against hint, we cannot him of the crime.

(a) punish (b) absolve
(c) release (d) ignore
49. | hope that the rain will for our picnic
tomorrow.
(a) keep off (b) put off

(c) set back (d) stay out
50. After the marathon, some of the competitors felt

completely
(a) cut up (b) done in
(c) done out (d) run out
51. Scarcely the teacher entered the
class when he heard the noise.
(a) did (b) has
(c) had (d) will have
52. | do not think he will ever the
shock of his wife’s death
(a) get by (b) get off

(c) get through (d) get over
53. Itis no use in crying over
(a) spoilt milk (b) spirited milk
(c) split milk (d) spilt milk
54. You must go to the station now. your brother
go just yet as his train leaves after three

hours.
(a) shouldn’t (b) mustn’t
(c) wouldn’t (d) needn’t
55. Every rash driver becomes a killer.
(a) sure (b) reckless
(c) potential (d) powerful
56. The country owes a deep debt of for

the freedom fighters.
(a) patriotism (b) sincerity
(c) remembrance (d) gratitude
57. The whole lot of young men was enthusiastic but
your friend alone was
(a) quarrelsome (b) complaining
(c) awet blanket  (d) sleepy
Directions: Select the option that is nearest in
meaning for the underlined word/words.
58. A truly respectable old man is a ripe person
a) senior b) mature
c) rejected d) repelled
59. The soldiers repulsed the enemy
a) defeated b) destroyed
c) rejected d) repelled
60. She deftly masked her feelings
a) hid b) flaunted
c) oblique d) obscured
61. Vendors must have licence.
a) One who drives a car
b) One who works in a hospital
¢) One who is employed in food serving
d) One engaged in selling
62. They will not admit children under fourteen
a) avow b) receive
c) accept d) concede
63. The jewels have been stolen from her bedroom
a) embezzled b) asserted

c) yielded d) abdicated

64. The soldiers showed an exemplary courage
a) flawed b) faulty
c) ideal d) boisterous

65. They served fruits after the dinner
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66.

67.

a) assisted b) obliged

c) waited d) offered

The committee should recommend his name to the
government

a) praise b) advise

c) counsel d) suggest

Can medicines save us from death?

a) hide b) rescue

C) protect d) liberate

Directions: Each of the following items in this section
consists of a sentence the parts of which have been
jumbled. These parts have been labeled P, Q, R and
S. Given below each sentence are four sequences
namely a, b, ¢ and d. You are required to rearrange
the jumbled parts of the sentence and mark your
response accordingly.

68.

69.

70.

71.

72.

73.

74.

P- the British manufacturers

Q- popularity of Indian textiles

R- were jealous of the

S- from the very beginning

The correct sequence should be
a)PQRS b)SPQR
c)SPRQ dQRSP

P- dress fashions changed and light cotton
Q- of the English

R- textiles began to replace

S- the coarse woolens

The correct sequence should be
aPRSQ b)RSPQ
C)QPRS dSPRQ

P- put pressure on their government
Q- Indian goods in England

R- the British manufacturers

S- to restrict and prohibit

The correct sequence should be

aPQRS b)SPRQ
c)RPSQ dQRSP
P- however

Q- still held their own in foreign markets

R- in spite of these laws

S- Indian silk and cotton textiles

The correct sequence should be

a)QPRS b)SPRQ

C)SRPQ dRPSQ

P- and it led to rapid economic development
Q- the Industrial Revolution

R- transformed the British

S- society in a fundamental manner

The correct sequence should be

a)SPRQ b)QPRS

C)QRSP dSRPQ

P- Muhammad Igbal

Q- the philosophical and religious outlook of
people through his poetry

R- profoundly influenced

S- one of the greatest poets of modern India
The correct sequence should be

a)QRSP b)SRQP

C)SRPQ dSPRQ

P- to accept any of the important

Q- disillusionment

R- demands of the nationalists produced

S- the failure of the British government

The correct sequence should be

a)SPRQ b)PQRS

75.

76.

77.

C)SRQP dQRPS
P showed that a backward
Q- therise of

R- modern Japan after 1868

S- Asian country could develop itself without
Western control

The correct sequence should be

aPQRS b)SRQP

c)PRQS dQRPS

P- and the current Hindu emphasis

Q- and urged the people to imbibe the spirit of free
thinking

R- on rituals, ceremonies and superstitions

S- Vivekananda condemned the caste system

The correct sequence should be

aPQRS b) SPRQ
C)SPQR dRPSQ
Mr. John

P- who was hardly six months old
Q- Charles

R- as his son

S- adopted

The correct sequence should be
a)SQRP b)PSQR

c)RSPQ d)PRSQ

Directions : The error is marked with bold

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

The best way in which you can/(a) open the
bottle is/(b) by putting it into hot water first/(c)

No error/(d)

Somebody who/(a) | enjoy reading/(b) is
Tagore/(c) No error/(d)

Electricity companies are/(a) working
throughout/(b) days and nights to repair the
damage/(c) No error/(d)

The student’s/(a) test results/(b) were

pleasant/(c) No error/(d)

The thirds of the book/(a) were/(b) rubbish/(c) No
error/(d)

You will be/(a) answerable forthe court

with/(b) any lies you have told/(c) No error/(d)

She felt/(a) terribly anxious for haveto sing/(b) in
front of such a large audience/(c) No error/(d)

| don’t agree/(a) with smacking children/(b) if they
do something wrong/(c) No error/(d)

The fruit/(a) can be made/(b) to jam/(c) No
error/(d)

| asked him/(a) what he/(b) has
done/(c) No error/(d)

There have been a tornado watch/(a)
Texas/(b) country until eleven O’clock
tonight/(c) No error/(d)

Although the Red Cross accepts blood from the
donors/(a) the nurses will not leave you give
blood,/(b) if you have just had cold/(c) No error(d)
A prism is used to refract white light/(a) so it
spreads out/(b) in a continuous spectrum/(c) No
error/(d)

Because of the movement of a glacier,/(a) the
form/(b) of the Great Lakes was very slow/(c) No
error/(d)

The new model costs/(a) twice more than/(b) last
year’s model/(c) No error/(d)

Gandhiji always regretted for the fact/(a) that
people gave him adulation/(b) while what he

issued for
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wanted was acceptance of his way of life/(c) No
error/(d)
94. The party/(a) was ousted in power/(b) after twelve
years/(c) No error/(d)
95. He was/(a) held in/(b) the prevention of Terrorism
act/(c) No error/(d)
96. He has great fascination/(a) for each and
everything/(b) that are connected with drama/(c)
No error/(d)
97. It's no secret/(a) that the President wants to/(b)
have a second term of office/(c) No error/(d)
98. (a) can/ (b) shall/ (c) should be / (d) none of these
improved only if we join
99. (a)ourselves/ (b) heads/ (c) hands / (d) none of
these earnestly to achieve the desired
100.(a) goal/ (b)intention/ (c) wish. / (d) none of these
Obviously, it cannot be done merely through
Directions In this section you have few short
passages. After each passage, you will find some
items based on the passage. First, read a passage
and answer the items based on it. You are required to
select your answers based on the contents of the
passage and opinion of the author only.
PASSAGE
Overpopulation is the most pressing of India’s
numerous and multi-faceted problems. In fact, it
has caused equally complex problems such as
poverty, undernourishment, unemployment and
excessive fragmentation of land, Indisputably, this
country has been facing a population explosion of
crisis dimensions. It has largely diluted the fruits of
the remarkable economic progress that the nation
has made during the last four decades or so. The
entire battle against poverty is thwarted by the
rapid increase in the population. The tragedy is
that while over population accentuates poverty,
the country’s stark poverty itself is in many areas a
major cause of over population
101.What is the irony behind the over population of
India?
a) Over population gives birth to poverty, which
(poverty) itself is the cause of over population
b) Under nourishment and unemployment are
outcomes of flawed economic progress
c) Fragmentation of land is leading to over
population
d) Fruits of the remarkable economic progress are
trickling down to the poor
102.What is the general tone of the passage?
a) funny / humorous b) somber
¢) didactic d) tragic
103.What, in the author’s view, severely affects the
economic growth of our country?
a) poverty b) illiteracy
c) over population d) None of the above
104.What, according to the author, is the biggest
reason behind over population?
a) under nourishment
b) unemployment
c) excessive fragmentation of land
d) poverty
105.“It has largely diluted the fruits of the remarkable
economic progress”. Find antonym of the
underlined word

a) coalesced b) compounded

c) cheapened d) consolidated

PASSAGE
To eat and not be eaten — that's the imperative of
a caterpillar’'s existence. The leaf roller reduces its
risks of being picked off by predators by silking
together a temporary shelter in which to feed and
rest. Adopting a different line of defense, the jelly
slug extrudes a sticky translucent coating that may
foul the mouth parts of marauding ants. For its
part, the aquatic larva, by its watery element,
fashions a portable hideout from fragments of
aquatic leaves. Cutting a serpentine trail as it
feeds on tender young leaves, the minute citrus
leaf miner spends its entire larval life inside its
host plant, thus keeping its appetizing body safely
under wraps.

106.Which varieties of caterpillars ‘build’ shelters to
protect themselves?
a) Leaf roller and aquatic larva
b) Leaf roller and jelly slug
c) Jelly slug and aquatic larva
d) Jelly slug and citrus leaf miner

107.Which one of the following caterpillars produces a
sticky covering?
a) Leaf roller b) Jelly slug
¢) Aquatic larva d) Citrus leaf miner

108.Which one of the following pairs of words in the
passage describes enemies of the caterpillar?
a) Serpentine and host
b) Predator and marauding
c) Serpentine and marauding
d) Predator and host

109.Which one of the following makes itself
unpalatable?
a) Leaf roller b) Jelly slug
¢) Aquatic larva d) Leaf miner

110.The main idea of the passage is that caterpillars
a) like to eat a lot
b) have to protect themselves while feeding
c) are good to eat
d) are not good to eat

PASSAGE

| have always opposed the idea of dividing the
world into the Orient and the Occident. It is,
however, the tremendous industrial growth that
has made the West what it is, | think the
difference, say, between India and Europe in the
12th or 13th century would not have been very
great. Differences have been intensified by this
process of industrialization which has promoted
material well-being tremendously and which is
destroying the life of the mind, which is in a
process of deterioration, chiefly because the
environment that has been created by it does not
give time or opportunity to individuals to think. If
the life of the mind is not encouraged, then
inevitably civilization collapses.

111.The words “the Orient and the Occident” mean
a) the West and the East respectively
b) the East and the West respectively
c) the North and the South respectively
d) the South and the North respectively

112.The author believes that the difference between
India and Europe in the 12th or 13th century was
not very great because
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a) Indians and Europeans mixed freely
b) Indians imitated the European way of living
c¢) Europeans imitated the Indian way of living
d) Industrialization had not yet taken place

113.In the opinion of the author, Industrialization is
a) an absolute blessing
b) an absolute curse
¢) neither a blessing nor a curse
d) more of a curse than a blessing

114.The author says that the mental life of the world is
in a process of deterioration because the modern
generation is
a) endowed with low mental powers
b) too lazy to exert its mental powers
c) taught that physical activities are more
important than mental
d) brought up in an environment unfavorable to
the growth of the mental life

115.The title that best expresses the central idea of the
passage is
a) difference between the Occident and the Orient
b) impact of Industrialization on our civilization
c) advantages of Industrialization
d) disadvantages of Industrialization

PASSAGE

In Delhi, it was forbidden by the law, at one time,
to take a Dog into public vehicle. One day, a lady,
accompanied by a pet dog, entered a bus.
Wishing to evade the law, she placed her tiny dog
in her dress pocket. It so happened that the
person next to this lady was a pickpocket; and
during the journey he carefully placed his hand
into her pocket in search of her purse. Great was
the horror to find instead of a pair of sharp teeth
inserted into his fingers. His exclamation of pain

and surprise draw the attention of other
passengers to him
116.0nce the law in Delhi did not permit the people to
a) carry dogs into private vehicles
b) board a bus a without ticket
c) carry dogs into a public vehicle
d) carry animals with them
117.1n order to evade the law, the lady
a) hid the dog under the seat
b) got off the bus
c) gave the dog to a fellow passenger
d) put the dog in her pocket
118.The pick pocket travelling with the lady
a) reported the matter to the conductor
b) put his hand in her pocket
c) took out the dog
d) asked the lady to get off
119.Which one of the following correctly expresses the
meaning of “wishing to evade the law”?
a) Wish to avoid following the law
b) Desire to follow the law blindly
c¢) Reluctance to break the law
d) Wish to change the law
120.Why did the pick pocket exclaim with pain?
a) He was hit by the lady
b) He was caught by the fellow passengers
¢) He was bitten by the dog
d) He fell of the bus
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3./D 33. | C 63.] A 93. A

4.1 C 34. A 64. C 94. B

°5. | B 35. |A 65.| D 95.|C

6. D 36. | B 66. D 96.| C

/.|B 37.| B 6/7. B 97. D

8. C 38. A 68. C 98. A

9. A 39. A 69. A 99. C
10. | C 40. A 70.| C 100. | A
11. | B 41. | D /1.| D 101. | A
12. | B 42. | B 72.| C 102. | B
13. A 43. | A /3. D 103. | C
14. C 44. | A 7. A 104. | D
15. C 45. | B /5. D 105. | D
16. | C 46. | B 76.| B 106. | B
17. D 47.|D 7. A 107. | B
18. | B 48. | B 78. A 108. | B
19. A 49. D 79.| C 109. | B
20. | C 50. | B 80.| A 110. | B
21. C °1. | C 8l. D 111. A
22. | B 92.| D 82.| B 112. | D
23. | A 93. | C 83.| B 113. | D
24. | A %4.| D 84. B 114. | D
25. | B 95. | C 85.| D 115. | B
26. | C 56. | D 86. C 116. | C
27.| B ol. | C 87.| C 117.| D
28. | A 98. | B 88.] A 118. | D
29. | C 9./ D 89.| B 119. |A
30. B 60. A 90.| B 120. | C

7| MOB:9795977779,9795977776 LUCKNOW- INDIRA NAGAR, ALAMBAGH ‘Come to Learn...Go to Serve...!




Date: ..cccvverecirenns
Timing: 120 minutes

CENTURION DEFENCE ACADEMY

Name: ..vevveveieeenn,
M.M: 100

CDS GS TEST PAPER

INSTRUCTION: Read questions carefully. For each wrong answer, one-third (0.33) of the marks assigned to that

question will be deducted. Each question contains (0.83) marks. / 9&1 &1 €aYd® dfeq| UAF Tad Sk @ ferg,
fau w1y 3wl A @ vp—fasrg (0.33) i IS AT | YD U (0.83) b BT 2 |

1. The major aim of a country to devalue its currency is:
JEREY 221 T 3TN HET & HaHed=l Bl GHT 32T FT

elarg?

(a) encourage imports/ 3T P PcATTecd HIAT

(b) discourage both exports and imports/ e 33 3T
Il T gdlcaTiod e

(c) encourage both exports and imports/ faaTa 3R 3maTa
It ol YrcaTied el

(d) encourage exports/ fAaTT @t MreaTfRed T

2. The internal prices during Devaluation usually:
AR W IaH{eT b AT et Reh e

(a) fall/PTRT &

(b) rise/gg B &

(c) remain unchanged/ P1S Tt &I BIdT

(d) None of the above/3d & IS FET
3. Dear money refers to money with-/[B3R el &l ERE
TR 8 HIY &2

(a) low rate of interest/ SATST T HH &I

(b) high rate of interest/ SITT &I 3Td &I

(c) depression/ 3TdHIG

(d) inflation / eI

4. Narrow money is a category of money supply that
includes:

Y AT, 4@ Y 3Tt Y wes AU & Trwet orm Qe €2
(@ The sum of currency in circulation and the demand
deposits in banks/ 3T & Fel AR dopl H BEATS BUITA
T AT

(b) The sum of MI money and the time deposits/ M1 T

3R TS H BUIDH &1 AN
(c) The market value of the stocks held by all the holders

excluding the promoters/ WHICIT &l DIz TH URDI
CaRT TW 1T AR BT AR Hed
(d) None of these/3eTa & IS F&T

5. A specified minimum fraction of the total deposits of
customers, which commercial banks have to hold as reserves
either in cash or as deposits with the central bank is called

the- /IITEeRt T ol ST BT Teh fAfeTe =gaaaar 39,
S8 arPTfsae dot & are a1 Al A & FU F IRETT

TGAT BT & T el Soh o UTE ST o &Y 3, 30 AT el
SATdT 2

(a) Variable Reserve Ratio/ TREceIa RET 31qUrel

(b) Cash Reserve Ratio/ sehe; 3TRIBTA 3TeIUTc

(c) Statutory Liquidity Ratio/ STERI Fehc 3dTcd

(d) Minimum Reserve Ratio/ egdd 3TRETA 3dFUTd

6. “Legal Tender Money” refers to: /“alITel <& AT T
o HFRI 2

(a) Cheques/ T

(b) Currency notes/ [T Ale

(c) Drafts/ ST9c

(d) None of these/3aa & P T

7. The terms ‘bear’ and ‘bull’ are used to describe general
actions and attitudes related to which of the following

commercial activity? /‘bear’ 3R ‘bull’ 2eg &1 FAWT AT
A O BhY aIPTiods ITAER F TART AT ERIT3i
3R efSemior &1 guid TR & FT EFIT ST &2

(a) Banking/ et

(b) E-commerce/ $-aied

(c) International trade/ 3TcRTSERT SITUR

(d) Stock market/ ¥R ISR

8. Gresham’s law is related to /I &I IH I
T 82

(a) Consumption and demand/ 3T8iteT 3R 79T

(b) Supply and demand/ 3mgfet 31X FTeT

(c) Circulation of money/ & & Harela

(d) None of these/3A3 & P T

9. Who are the creditors of a Corporation? /f9T3T & cigR
PieT &2

(a) Bond holders/ dfes 4R

(b) Stock holders/ T Ueh

(c) Both Bond and Stock holders/ dfes 3R Teid et
YRh

(d) None of these/Z=T3] & IS A&

10. What is USP in marketing field? /EJUT &9 & USP

FIT 2
(a) Uninterrupted power supply
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(b) Universal standards of production
(c) US Programme based
(d) Unique Selling Proposition

11. The term Economic rent refers to- /37TRTeh ERTAT QTeE
{ T ATy 72

(a) Profit/elTaT

(b) Payment made for the use of land/ 3 & 3UANT &
©IT EhAT 14T W

(¢) Producer’s surplus / AT 1 IRIAY

(d) None of these/3eTa & PIS &T

12. Who among the following pro-pounded Wage fund
theory?

RAammEg & ¥ g aaa Amr oaga uiaufea mar
&2

(a) J.S. Mill/s. T8 BTe

(b) J.B. Say/at. &Y. &

(c) J.R. Hicks /1. 31R. feara

(d) J.M. Keynes/st. Ta. el
13. Minimum payment to factor of production is called-

SCUTE & HIUA & [T ~FAde I Dt FAT BT STt
®?

(a) Transfer payment/ 37c0T 37er=raft

(b) Rent/ERITAT

(c) Wages /aa=T

(d) Quasi Rent/ 374 ERITAT
14. Surplus earned by a factor other than land in the short

period is referred to as- /SIET 3TART H STHIA & 3TeTdT EHET
3 R GART TSIl JRIAY Bl HEBI EHAT STl &

(a) Economic rent / ERSTI T ERITT

(b) Net rent/ & [ERITAT

(c) Quasi-rent/ 374 ERITAT

(d) None of these/Z<T31 T IS A&T

15. The break-even point (BEP) in economics is the point at
which — /319ITE & deh-3a=l uige (BEP) a% g & o/
-

(a) Marginal revenue equals marginal cost/ THATT IreTEd
HATT AT & IR &

(b) Average revenue equals average cost/ 3rad IreTed
3 T & STeR §

(c) Total revenue equals total cost/ el IT¥d el ATITT &
TR &

(d) None of the above/3eTa & IS &

16. In which type of economy property and businesses are
owned and controlled by individuals? /EFE UHR &I

ydcgaEqr #, wufead 3R cgaart & w@mAa 3R
STl gan AT EhaT STelT &7
(a) Capitalist economy / Gofardr Jrefeerear

(b) Socialist economy/ THATSTATET 3TcTATEAT
(c) Mixed economy / AT 3dcaasar

(d) Command economy/ fAERIT 31deTarar
17. The existence of a parallel economy or Black Money-

FHIR HITEAT AT woleh HAT T AisTeai -

(2) Makes the economy more competitive/ 3T¥cTaTAT &Y
Jwres gfaegdt aarar &

(b) Makes the monetary policies less effective/ Hifgem
At oY ey g IATAT ¥

(c) Ensures a better distribution of income and wealth/ 3T
3R 9 &7 deek EeRoT giAfad s ¢

(d) Ensures increasing productive investment/ 3cdlceh
foaer & grg glaread aear e

18. Barter transactions means- /aTeX dlied &l A &

(2) Money acts as a medium/ 3T Teh AT & FT & B
P &

(b) Coins are exchanged for goods/ ek & [T HTHT T
3TTETeT-YeTeT HhaT SITdT &

(c) Goods are exchanged with goods/ |THT & HTY ATHT
T TET-YeT AT SITdT &

(d) Private ownership/ fa<iy Tamica
19. Fluctuation of economy including economic expansion
and recession over a period of time is called . 13T

EEIR 3R @ag i 3amr &F 7§ gea rdcgaear &
SAR-TUE Bl el ST ¢

(a) Expansion / [HEIR

(b) Recession/ ey

(c) Business cycle/ <IddTI dsh

(d) Deficits/ &

20. _ isagood that is in greater demand as its price
increases. / Th TIHATT & S FraAd dea & Yy
7RI AT H &

(a) Essential goods / 313 a&T

(b) Capital goods/ i a&I¥

(c) Veblen goods / adelel aET

(d) Giffen goods/ PTshel a&c¢

21. What is the position of Mars from the Sun among the
eight planets? / 316 T&1 31 & I & HaTer b AT & &2
(a) First / OgelT

(b) Second/ g&

(c) Third/ Jrady

(d) Fourth/ Tty

22. What is the approximate distance of Sun from Earth? /
gl & G T ITATIA G Ehclell &7
(a) 120 million kilometers / 120 EReITATCT
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(b) 150 million kilometers / 1500AEI ErallATC
(c) 180 million kilometers / 180T Fheiidiex

(d) 200 million kilometers / 200 ERTHTEY
23. What percentage of the Earth‘s area is approximately

filled with water? /el T [ERcTAT TTCIRTcT $ITIT SIT$IT TTAT

J Thr g3 &
(a) 50% (b) 60%
(c) 70% (d) 80%

24. Between which of the following two planets are the
asteroids found? / fAFmEIDEd & @ ORE &l I8 & &

&IGITE UV STd &2

(a) Saturn and Uranus/ 1Tt 3iR aor

(b) Jupiter and Saturn / FeEatel AT Afr

() Mars and Jupiter / FaTer 3R Jeedia

(d) Earth and Mars / g2dt 3R #Harer

25. What is the Pluto called after August 2006? / 3T9T¥d
20065 dTE; & To[el ol &R el Silell &7

(@) Planet / II&

(b) Dwarf Planet / SiaT I

(c) Moon / TgAT

(d) Blue Planet / frelT IT1g

26. The largest planet in the Solar System is / @RS Fr
Y I37 TE Bl &

() Venus/ 2[sh (b) Mars / FITer

(c) Jupiter / JEEUT (d) Earth / g2y

27. Which is the brightest sky in our night sky? / EARX
STRTRT 3 T T TGH THDTAT TRT DieT AT &2

(a) Canopus/ haltad (b) Sirius A/ BIRTH T

(c) Vega/ dam (d) Spica/ F&genT

28. The longest duration of the year happens on which of the

following planet? / a§ &T TeA et AT &< H & EHA
TE TR el &2

(a) Saturn / 1fex (b) Jupiter / geFafd

(c) Neptune / a%oT (d) Earth / gt

29. The coldest planet in the solar system is / HIX Fsel 3

(a) Neptune / %01 (b) Jupiter / geFafd
(c) Mars / FHITeT (d) Saturn / 2rfar
30. During December 22nd the sun is vertically over: / 22

TR &1 I Fadd FU A FHdh ST Bl &2
(a) Tropic of Cancer / e Y@T

(b) Tropic of Capricorn / FehT I@T

(c) The Equator / ${H<T X@T

(d) None of these / Su[erel 3 & IS 3 et

31. Which one of the following is estimated age of our

planet Earth? / & g & JgaATfaie 3imy om &2

(a) 13.7 billion years / 13.73R« a§
(b) 65 billion years / 65¢ITg a9
(c) 4.6 billion years / 4.63R« a9

(d) 3.8 billion years / 3.83Ra ¥
32. Which one of the following satellite is called as fossil

planet? / T & & ErT JeTST P SNATRHA TE Bl SATAT
Y

(a) Titan / €I3c

(b) Ganymede / I1ATHS

(c) Moon / &

(d) Phobos / ®rer®
33. What is the position of Mercury from the Sun among the

eight planets? / 31TS Irel & & g7 & el aram &2

(a) First / ggell

(b) Second / g&T

(c) Third / drexT

(d) Fourth / @itar

34. The path of planets revolving around the sunis : / H}‘f G}
(a) Elliptical / 318TR

(b) Spherical / IR R

(c) Circle / edTpR

(d) None / 1S 8ff g

35. Equinox occurs when the sun is vertically above / FEYd
)STFIATFH (T BT & 5T FIA ........ B WY W AT &
(a) Tropic of Capricorn / &3 @1

(b) Tropic of Cancer / &b T@T

(c) Poles / o

(d) Equator/ 8THET 3T

36. Movement of Earth on its axis is called / 31Tl ‘g‘& °py
gl A ATA P ........ el STl &

(a) Revolution / GTeRaT

(b) Rotation / GO

(c) Translation / EATATILOT

(d) Hlumination / YehIRT
37. Consider the following regarding the planets in the

Solar System: /&R #Azel & TRT & IR F AFAEIET R
BRIy

I. Saturn: Second largest planet after Jupiter /1Y :ggEdTcT
% 1 G He ST T

. Venus: Evening Star and Morning Star /[sh” :gd& T
ART “31 AT HT ART

1. Uranus: Greenish in colour /=T 337 & &1
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Which among the above is/are correct regarding the planet

in the solar system? /& F5el & TRT &b TGY H SWRIad A

Y PIT-HT HAS Fel 2
(@ I'and 111 (b) I'and 111
(c) land 1l (d) All L, 11 and I11

38. Planet Earth revolves around Sun in how many days?
g2t 7% et Tt 3 g & ARt R gt &

(a) 364; (b) 365;

(c) 366 (d) 365

39. How long does the earth take to rotate 1° ?/ Geft &1 1
B T H ERcTell HHY o1l &2

(@) 4 minute / 40HAC

(b) 15 minute / 150HAC

(c) 36 minute / 360HAC

(d) 24 minute /  24[HAC
40. Number of base Sl units is

()4 (b)7

(c)3 (d)5

41. The unit of Planck’s constant is

(@) Joule (b) Joule/s
(c) Joule/m (d) Joule- s

42. Which of the following quantities is dimensionless

(a) Gravitational constant

(b) Planck's constant

(c) Power of a convex lens

(d) None of these

43. Which of the two have same dimensions

(a) Force and strain

(b) Force and stress

(c) Angular velocity and frequency

(d) Energy and strain

44. Two quantities A and B have different dimensions.
Which mathematical operation given below is physically
meaningful

(a) A/B (b)A+B

(c)A-B (d) None of these
45, Light year is a unit of
(a) Time (b) mass

(c) Distance (d) Energy

46. The percentage errors in the measurement of mass and
speed are 2% and 3% respectively. How much will be the
maximum error in the estimation of the kinetic energy
obtained by measuring mass and speed

(@) 11% (b) 8%

(c) 5% (d) 1%

47. What is the number of significant figures in 0.310x103
(a) 2 (b)3

(c)4 (d)6

48. Error in the measurement of radius of a sphere is 1%.
The error in the calculated value of its volume is

(@) 1% (b) 3%

(c) 5% (d) 7%

49. The mean time period of second's pendulum is 2.00s and
mean absolute error on the time period is 0.05s. To express
maximum estimate of error, the time period should be
written as

(@) (2.00 £0.01) s

(b) (2.00 +0.025) s

(c) (2.00 £ 0.05) s

(d) (2.00+£0.10) s

50. A body travels uniformly a distance of (13.8 £0.2) m in
a time (4.0 £ 0.3) s. The velocity of the body within error
limits is

(a) (3.45 +0.2) ms-1

(c) (3.45 +0.4) ms-1

51. The unit of percentage error is
(a) Same as that of physical quantity

(b) Different from that of physical quantity

(c) Percentage error is unit less

(d) Errors have got their own units which are different from
that of physical quantity measured

(b) (3.45 £ 0.3) ms-1
(d) (3.45 £ 0.5) ms-1

52. The unit of permittivity of free space & is

(a) Coulomb/Newton-metre

(b) Newton- metre? /Coulomb?

(c) Coulomb?/ (Newton- metre)?

(d) Coulomb?/ Newton- metre?

53. A boy stops after travelling 3 km towards east and then
goes 4 km towards north along a plane road. The resultant
displacement of the boy is

(@) 7 km (b) 4 km

(c) 5km (d) 15 km

54. If the displacement of a particle is zero, then what can
we say about its distance covered

(a) It must be zero

(b) It cannot be zero

(c) Itis negative

(d) It may or may not be zero

55. A particle moves along a semicircle of radius 10m in 5
seconds. The velocity of the particle is

@@ 2z ms* (b) 477 ms™

© 2ms™ d) 4 ms™

56. A 150 m long train is moving with a uniform velocity of
45 km/h. The time taken by the train to cross a bridge of
length 850 meters is

(a) 56 sec (b) 68 sec

(c) 80 sec (d) 92 sec

57. A car moves for half of its time at 80 km / hand for
rest half of time at 40 km/h.Total distance covered is 60
Km . What is the average speed of the car
(a)60 km/h (b)80 km/h

(c) 120 km/h (d) 180 km/h

58. The location of a particle has changed. What can we say
about the displacement and the distance covered by the
particle

(a) Both cannot be zero

(b) One of the two may be zero

(c) Both must be zero

(d) If one is positive, the other is negative and vice versa
59. The ratio of the numerical values of the average velocity
and average speed of a body is always

(a) Unity (b) Unity or less

(c) Unity or more (d) Less than unity

60. Who is the founder of the concept “Sarvodaya”?

/< TaATET TURTT & HEATYH Bl &2

(a) Vinobha Bhave ([HSTET HTd)

(b) Mahatma Gandhi (F&TcaT IdT)

(c) Jai Prakash Narayan (ST UehIRT ATTA0)
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(d) K G Mushroowala (& it 37#@Te)

61. Who was the founder of Swatantra Party? ‘¥Tdca areh
& FEATID Pl A?

(a) B. G. Tilak (&ft. Sft. faere)

(b) Dadabhai Naoroji (GTeT81TS FRIS)

(c) Gopal Krishna Gokhale (31TaTel 5S0T 911 &el)

(d) C. Rajagopalachari (&T. TSEMUTATARY)

62. The National Anthem was adopted by the Constituent
Assembly on? /HEYTT HHT SaRT TS 3T &Y AT
IgT AT?

(a) Dec. 27, 1950 (27 TGHFR, 1950)

(b) Aug. 15, 1947 (15 319TEd, 1947)

(c) Jan. 24, 1950 (24 STeTaY, 1950)

(d) Jan.26, 1947 (26 STAaXY, 1947)
63. Who had demarcated the border-line between India and

Pakistan? /FHa TR 3R atEREaTeT & frar dyar Y@r &
AT g3 6 212

(a) McMahon (H&aTge)

(b) Lord Durand (< 333)

(c) Radcliffe (3&fdFer®)

(d) None of these (33 & IS Tg1)

64. Who of the following Prime Ministers sent Cripps
Mission to India? fAFamDEd gura AT & & A

HI T BHTH LA AT AT?

() James Ramsay MacDonald (318 JHY Hhslares)
(b) Stanley Baldwin (T¢<Tell aTeSH)

(c) Neville Chamberlain (R dFaReld)

(d) Winston Churchill (FE¥Fee TkTeT)
65. Who is the Viceroy of India during Quit India

Movement? /3TRd B18T 3aTelel & GRTa {Rd T arFad
PieT &2

(a) Linlithgow (DETTETAT)

(b) Cornwallis (ehleTal o)

(c) Mountbatten (FT3caee)

(d) Munro (3e)

66. The foreign traveler who visited India during the rule of

the Guptas was? /I[Ccll & MAF & SRTT HRA 3T dTel
meRfy A Bl A7

(a) Hiuen Tsang (89U o)

(b) Beriner (S¥1=X)

(c) Fa-Hein (%I-g<T)

(d) Manucci (=)

67. Which ruler of Gupta Empire is also known as
“Napoleon of India”? /It HHATST & OhE ATHD Pl
“ANET 3T SHEIAT” & AT & 3 14T ST &2

(a) Chandragupta | (TI&I[cd 1)

(b) Chandragupta Il (Jgared 11)

(c) Samudra Gupta (Fag ITtcT)

(d) Srigupta (419ce)

68. The Kushans ruled in? Gumoi &
Ehar?

(a) 1st century AD (TgelT QIdTedy $HdT)

(b) 2nd century BC (GERT QraTed! $6T 74)
(c) 3rd century AD (NrErdY QraTesd) $HdT)
(d) 5th century BC (qierdT eralTedY ST 4d)

69. Who among the following rulers organised the Second

Buddhist Assembly? fAFAIIE ATEDT H & FhA GELT
dig EUTATHT T 3T ERT?

(2) Ajatashatru (3TSTTcIRr)

(b) Kalasoka (rTerdien)

(c) Ashoka (3721TeR)

(d) Ananda (3715<)

70. To which 'king belongs the Lion capital at Sarnath?
TIATT H Pl AT THTE AR DT TSTUTAT T FFARIT &2

(a) Chandragupta (<gTceT)

(b) Ashoka (3721Te)

(c) Kanishka (fase)

(d) Harsha (8%)

71. Under the Mughal rule the judicial service was headed
by? FITeT AT & ot =TT Aeh JdT & Acfeahal A

(a) Vakil (ampel)

(b) Diwan (SraTe)

(c) Qazis (eTST)

(d) Mansabdars (FHEGR)
72. Who among the following painters committed

suicide? fAFIIET EFPRT J ¥ BRAS ATcHscaT of A1?
(a) Basawan (sr&Td<)

(b) Lal (efTel)

(c) Daswant (GTEdd)

(d) Mahesh (7&2r)
73. The greatest painter of birds at Jahangir’s court was?

STETR & 31eTeld 3 URTT ol Had el [AHR 2AT?
(a) Basawan (sr&Td<T)

(b) Mansur (F¥)

(c) Syed Ali Tabrizi (& 37elr aYsfist)

(d) Khwaja Abdus Samad (TdTsT 3egH <)
74. Jahangir (1605-1627 AD) was the ruler of which

dynasty? /ST&ITR (1605-1627 §.) [EFE TSI T ATHH AT?
(a) Nanda/ g (b) Haryanka/ s

(c) Maurya/ ¥ (d) Mughal/ 3aTel

75. Who pioneered the guerrilla warfare methods? U;I'ﬁW-—IT
g [HRIAT T AJcd FhE EHAT?

F amaEd
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(a) Babur/daTeX
(b) Akbar/3TheX
(c) Shivaji/RraTsit

(d) Bajirao Peshwa/aTiIRTar URrar
76. Under which article, President of India can proclaim

financial emergency? OFHPH Hﬂm & ded, AR &
Tseufa eI 3TUTAhI &l TBTWUTT 6 Hebdl &7

(a) Article 32/ 37eTede 32

(b) Article 349/ 3reTese 349

(c) Article 360/ 37eTese 360

(d) Article 355/ 3ieTesg 355
77. How many members of upper house (Rajya Sabha) can

be nominated by President of India? /R & IsgUTd SaRT
3od Hed (5T FHT) & Bhde TG Dl ATHA EHAT ST

HbdT &2
(a) 10 (b) 12
(c) 14 (d) 16

78. Which of the following Amendments is also known as
the “Mini Constitution’ of India? fAFAEIET H q EHE

FAMUA P HRA & I FEAE & § F HT S ST
&2

(a) 7th Amendment/ TMIA

(b) 42nd Amendment/ RN

(c) 44th Amendment/ TR

(d) 74th Amendment/ TN
79. Which of the following does not come under

Fundamental Duty? /33 & &1 HIEIH Hicd & ded el
AT &2
(a) To safeguard public property/ TTdSifaie Fufed &I &

Gliciy
(b) To protect and improve the natural environment/

UTehfcteh TTaROT Y T&TT 3R GUR el & BT
(c) To promote harmony / TGTd Pl IETAT &l h [T
(d) To protect freedom of speech and expression/ HTYOT 3R

YT &Y FITFAT bl T&TT & [FT
80. Who is the custodian of Contingency Fund of India?

|ARA & IR EHAD AR & HI&TH Pl &2

(a) The Prime Minister/ TITeT =T

(b) Judge of Supreme Court/ FUTe BIE & =ararefer
(c) The President / Trsgufa

(d) The Finance Minister/ e 3T

81. In the Indian Parliamentary System, ‘Vote on Account’
is valid for how many months (except the year of elections)?

(R TEET Yol &, ‘dic U @rar Bhde ST
(AT & aY I BISHT) & [FIT AT §?

(a) 2 months/ FEIA

(b) 3 months/ @A

(c) 3 months/ FEA
(d) 9 months/ FAET

82. How many times a person can be elected as the

President of India? /Ueh <Rl & AR & ASUTd & &7 H
Erdell IR fAaTmad ERaT 51 JehdT &2

(a) One time/Teh I

(b) Two times/2 I

(c) Three times/3 I}

(d) Never/@ma{T &1

83. Which of the following provision needs a special
majority in Parliament? fAImEI0Ed & & BT TTaYUT 6l

e & AV IEA T 3TTTRAT 72

(a) Change in Fundamental Rights/ SiETeh 3TRIPRT F dcel
(b) Creation of New States/aTT Jr=t &T fA&ATOT

(c) Abolition of Legislative Councils in State/ I &
[EITeT TRel & Seafelel

(d) Rules and Procedures in Parliament/&&e & fauer 3R
UBRITY

84. Which article can be used by the President of India to
declare national emergency? JSEIT 3T BN Pl
& BT HRA & Togufd R Ehd e &l SUFNT
ERIT ST HehdlT 72

(a) Article 32/ 31T=8¢ 32

(b) Article 352/ 3feTes5e; 352

(c) Article 360/ 3TeTeSe 360

(d) Article 365/ mf 365
85. Which amendment of the Constitution of India increased
the age of retirement of High Court judges from 60 to 62

years? /AR & THEYTE & Y TN J 3Td g1y &
=TIt &Y FaTiagicd @Y 317G 60 & 62 Y deh Jel &
I &2

(a) 10th (b) 12th

(c) 15th (d) 245"

86. Constituent Assembly of India was founded in the year?
/ R 6T FEUT FHT Y TATTAT Y H
g

(a) 1940 (b) 1946

(c) 1947 (d) 1950

87. means cases that can be directly considered

by the Supreme Court without going to the lower courts

before that? / FI 3N & 3 AHA A & oo
ated =TT ganT €Y fAerell 3rgrerd 3 S & foar
HTAT ST HeheT &7

(a) Original Jurisdiction/ el =ATATRIRTT

(b) Writ Jurisdiction/ Re =TTk

(c) Appellate Jurisdiction/ 3TdTel =ITATRIRIT

(d) Advisory Jurisdiction/ HelTehY =ITITERIB
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88. means that the President of India can refer any
matter that is of public importance or that which involves
interpretation of Constitution to Supreme Court for advice?

/ &I 3N & F R &1 Iseufa Era off Aot &y
IS HAecd & TesT AT JEYUT 6 cITEIT F Tolls &
(1T GolTeT hIE Y AT T Hehell &2

(a) Original Jurisdiction/ el “ATATRIRTT

(b) Writ Jurisdiction/ Re =amaT®IeR

(c) Appellate Jurisdiction/ 3TUTeT =ITATRIAIY

(d) Advisory Jurisdiction/ HelTghIX =ATITRIPIY
89. “Trade unions” is listed in the list given in the
Seventh Schedule of the Constitution of India? /¢

IR Y AR & HEYU B TN g 3§ & 78
T 3 Eierg EHAT I 2

(a) Union/@gr

(b) State T

(c) Global/ 3f2gen

(d) Concurrent/ FaTact

90. In which year was All India Anna Dravida Munnetra
Kazhagam (AIADMK) founded? /& T 3 30Eel HRAT

3ol IS FAT DA (AIADMK) T TATTAT §'g,‘ 2AY?
(a) 1949 (b) 1999
(c) 1972 (d) 1997

91. Silver gets corroded due to __ in air /gar #
& PROT TIET T &7 BT &

(a) Oxygen/ 3TargTsTd

(b) Hydrogen Sulphide/ gssiald Hehlss

(c) Carbon dioxide/ ST 3TS3HTFATES

(d) Nitrogen/ ATSEISTT

92. Which of the following is a radioactive element?

[AFAEIET H A Pl T Th IBAIHT dcd 82

(a) Cobalt/ ®ETee

(b) Uranium/ IXa#

(c) Argon/ 3T

(d) Chromium/ SIS

93. The 'solid waste' is also known as? /'S 3UIRTSE' T
3R B T F Y ST AT 2

(a) Sedge/ Tt

(b) Toxic waste/[HUTd 3TURISC

(c) Sludge/ Felat

(d) Scrubber/ FhelX

94. The antiparticle of an electron is /Tch Sl &l HUT
&

(a) Positron/ Tifaigie

(b) Proton/ WeieT

(c) Alpha particles/ 3TeWhT 0T

(d) Beta particles/ YeT eoT

95. Who invented the Centigrade scale? /A1 ST &1
JESAR EhH FHAT?

(a) Anders Celsius / Ts& Qfcaad

(b) Daniel Gabriel Fahrenheit/ 3frer AAfrel BRASE
(c) William Thomson/ [HFZE Afad

(d) Wright Brothers/ J13¢ sicd
96. Which one of the following liquids is very good
conductor of heat?

AT & Q Pl T Aol SCHT T TG ST FaTeleh 2
(a) Mercury /AT

(b) Water / QT=AT

(c) Ether / $2R

(d) Benzene/ St

97. Which one of the following metals is liquid at ordinary
temperature?

fAFAmOEd arqsit & @ Hid & U1 dre=g dYaE )
RA?

(@) Lead / oI5

(b) Nickel/ T@&er

(c) Mercury /ORT

(d) Tin/fe=t

98. Mercury is basically used in thermometer devices
because its epeciality is

URT 3 &Y § YA SO H SUANT ERAT STl &
TP ST [HRTSET -

(a) High density/ 3= gdcd

(b) High liquidity/ 3= dXeTdr

() Good conductor of heat/ ST & 3T<e> FaTelh

(d) High specific heat/ 3T RIS ITHf

99. There is no reaction when steam passes over /HTT &
_ SR A TR W IS UTAEHAT 761 gieh 2.

(a) Aluminium/ TegHTIH

(b) Copper/ dTar

(c) Carbon/ &1

(d) Iron/ 3R

100. Iron is obtained from /31T § UTCT AT SITAT &-

() Limestone/ TAT TRT

(b) pitch-blende/ Tl

(c) Monazite sand/ HleT=Tge ¥

(d) Hematite/ gHCISC
101. Easily soluble in water- /aT=lY 3 3T & golaafier -

(a) Carbon/aTeed

(b) Nitrogen/aT&gTeTed
(c) Ammonia/3raifaar
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(d) lodine/3maEIA

102. Which is used as Laughing gas is— /&g 3 (TR
) & T F STANT Y S arel A -

(a) Nitrous Oxide / ATSeH HTFASS

(b) Nitrogen dioxide / ATSEISIA SIS3HTFATSS

(c) Nitrogen Trioxide / ATSeISTeT ST TFATSS

(d) Nitrogen Tetra Oxide / ATSEIST SCT3TTFATSS

103. Which one of the following is also called Stranger Gas?
| FAFEIEd # § BhY oo 3 Y del SITaT 82

(a) Argon / 37T

(b) Neon / 31T

(c) Xenon / eFETAA

(d) Nitrous Oxide / ATSCH 3TTFATSS
104. The gas used to inflate the tyres of an aircraft is- /T

AT & TRR F §dT IR & [FT Bid & 3 a1 ggir
ERT ST &2

(a) Hydrogen / ETatotel

(b) Nitrogen / T8eTSTeT

(c) Helium /&gt

(d) Neon / IeT

105. Out of the following is not an alloy? /[AFAEIET # &
it Y Teh BT YT TRl &7

(a) Steel /€&t

(b) Brass / drdel

(c) Bronze /| &g

(d) Copper / U

106. Movement of cell against concentration gradient is
called? /UhTICT ETel & ODETh Hel i JTATSTRT Dl FAT
P AT &2

(a) Osmosis (TITHFION)

(b) Diffusion ([EHITT)

() active transport (FERY TIETIE)

(d) passive transport (FPRTcHS SIFUIC)
107. The slow growth of the human body is caused due to

the deficiency of which of the following? fAemIEd & &
(ERET <hY hafl & SPROT ATeTd R el T grig Bielt &2

(a) Fats(a&m)

(b) Vitamins(ECIIAA)

(c) Proteins(SETe)

(d) None of the above(3URTeFd 3 & IS %)
108. Milk protein is digested by which of the following

enzyme? /G4 WIEIT e Tollsd H & EHEh @RT Tamd
ST 82

(a) Pepsin(aftaeT)

(b) Trypsin(fecweT)

(c) Rennin(Xfa=)
(d) Erepsin(Tftae )
109. What is the average fat content of buffalo milk? /&g &

& <hr 3Tt @ el &R 7
(a) 7.2%

(b) 4.5%

(c) 9.0%

(d) 10.0%

110. White colour of milk is due to the presence of- /G&T T
Hihe, 137 T TP SUTEATT & HIROT 21T 872

(a) Lactose (ofeFera)

(b) Albumins (3TeqmH)

(c) Carotene(dR1ET=T)

(d) Casein(hOa3T)

111. Alpha-keratin is a protein, present in: /37ethT-chI{ce
THhUEAE, S #AAEE:

(2) Blood(¥aFdT)

(b) Skin(cddr)

(c) Lymph(eT¥renT)

(d) Eggs(373)

112. One of the following is most suitable for study of
mutations? /FICA & AT b [T oot H § Had
SR &7

(a) Haploids (gCellssd)

(b) Diploids (BUTSSH)

(c) Tetraploids (¢gTcelissd)

(d) Polyploid (dTelceis)

113. Linseed is a rich source of- /37eIET ERA®T Tdh qAg
I 82

(a) Vitamin C (T C)

(b) Omega-3 fatty acid (31391 -3 thet TOES)

(c) Essential amino acids (cTfcde THAAT 37F)

(d) Antioxidants (TE3iTeFESe)

114. Which one of the following is not a protein? /3137 &
it AT UIET el &7

(a) Keratin (dfeeT)

(b) Fibroin (FRsiTa=T)

(c) Oxytocin (NFHCII)

(d) Collagen (Telste)

115. Pulses are a good source of? /GTell ER®T Tdh 3THT
i &2

(a) Carbohydrates(eTaigTs3¢)

(b) Fats(a4T)

(c) Proteins(STETeT)

(d) Vitamins(ECTOiH)
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116. Which hormone stimulates the thyroid gland to secrete

thyroxine? /AT & & Pl AT TEA ARRIFHA

HIHET & [T ATSNSS Tols Pl SEITT AT &7
(a) TSH

(b) FSH

(c) LTH

(d) ACTH

117. Bile is produced in which part of the body? /0dcd <pT
TG R & EhE HTIT H BIdT 82

(a) Liver(efraR)

(b) Spleen(CelTer)

(c) Gall bladder(0FcTRM)

(d) Pancreas(319103)

118. The normal temperature of the human body is? /HTAd

R T ATATET JTIHAT & —

(@) 37 °C (b) 98 °C

(c) 367 K (d) None of the above

119. MRI is a diagnostic tool, which means- /MRI <l Err\Ucr
FTE?

(a) Magnetic Resonance Index

(b) Magnetic Resolution Information
(c) Magnetic Resonance Imaging

(d) All the above(3URIard THY)
120. Which of the following glands is a source of the

enzyme Ptyalin? /[AFImE0Ed # & $id @ TR TASH
TN T B 82

(a) Pancreas/ 3a=I1ra

(b) Thyroid Gland/ I=RTES FRT

(c) Pituitary Gland/ 9y TIR1

(d) Salivary Glands/ &R IJRT
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ANSWER KEY

1. | D 31. |C 61. | D 91. | B
2. | C 32. |C 62. | C 92. | B
3. | B 33. |A 63. C 93. | C
4. | A 34. |A 64. | D 9. A
°>. | B 35. |D 65. |A 95. |A
6. | B 36. | B 66. | C 96. |A
/. |D 37. |D 67. | C 97. |C
8. |C 38. | B 68. A 98. | C
9. | C 39. A 69. | B 99. A
10. | D 40. | B 70. |B 100. | D
11. | B 41. | D /1. |C 101. | C
12. | A 42. | D 2.  C 102. | A
13. | A 43. | C /3. |B 1038. | C
14. | C 44. | A /4. D 104. | B
15. | C 45. | C /5. | C 105. | D
16. | A 46. | B 76. |C 106. | C
17. | B 47. | B /7. |B 107. | C
18. | C 48. | B /8. |B 108. | C
19. | C 49. | C 79. |D 109. | A
20. | D 50. | B 80. |C 110. | D
21. | D °l. |C 8l. A 111. | B
22. |B 52. |D 82. |D 112. | A
23. | C 93. | C 83. |A 113. |B
24. | C %4. |D 84. |B 114. | C
25. | B 5. |D 85. |C 115. | C
26. | C 6. | C 86. |B 116. | A
2. |B °ol. |A 87. |A 117. |A
28.  C 58. |A 88. |D 118. | A
29. A 59. | B 89. |[D 119. | C
30. | B 60. | B 90. | C 120. | D
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Date: ..cccoovvvvivienenns Name: ..vevveveieeenn,

Timing: 120 minutes CENTURION DEFENCE ACADEMY M.M: 100
CDS MATH TEST PAPER

INSTRUCTION: Read questions carefully. For each wrong answer, one-third (0.33) of the marks assigned to that

question will be deducted. Each question contains (0.83) marks. / 9&1l &1 sa-Yd® dfeq | IA® Tad Sk & a1y,
fag g siwt § @ ya—favg (0.33) e HIS ST | UAP U (0.83) 3id BT 2 |

Q.1- The present age of Aradhana and Aadrika is in the ratio 3:4. 5 years back, the ratio of their ages was 2:3.

What is the present age of Aradhana? / 3RTU=T 3R 3TicehT &l acTATe 3 3:4 & 31U # &1 5 a¥ U, Seieht

3T T 3HJUTC 2:3 UT| 3RTAT T Tt 3T T &2

(A) 12 years (B) 15 years

(C) 20 years (D) 22 years

Q.2- If the total ages of Igbal and Shikhar is 12 years more than the total age of Shikhar and Charu. Charu is
how many years younger than Igbal? / Ife; gehelTel 3R [RIER &l el Y RIER 3R =T &Y Pl Y A 12 a9 HRIH

©| TTE, ShATA A [Ehdlel a¥ BICT §72

(A) 11 years (B) 13 years

(C) 15 years (D) None of the above

Q.3- A father is twice as old as his daughter. If 20 years ago, the age of the father was 10 times the age of the

daughter, what is the present age of the father? / Teh [clT &I 3G 3U=AT G & gareh &1 ITE 20 & g e v 3y

QA T 3T AT 10 T[T Y, T [T T ATAT 3T AT &2

(A) 40 years (B) 32 years

(C) 33 years (D) 45 years

Q.4- Arun is 2 years older than Bharat who is twice as old as Sharad. If the total of the ages of Arun, Bharat and
Sharad be 27, then how old is Bharat? / 3r%0T, $Rd & 2 a§ g7 §, Sil 3R & QAT a37 &1 T 3re0T, ¥R 3R ;e

Y et 3G 27 &, Y 3R & 311 Ehctell &2

(A) 10 years (B) 12 years

(C) 15 years (D) 13 years

Q.5- The sum of the ages of a daughter and mother is 56 years. After four years the age of the mother will be
three times that of the daughter. What is the age of the daughter and the mother respectively? / Tch C_ﬁ‘r 3R Aar
<hT 3T T TIT 56 I | TR aY &1e; AT e 317G GAT T 37 &I cliet I @ S| AT 3R AT BT harer: 3G &
&2

(A) 10 years, 41 years (B) 11 years, 44 years

(C) 12 years, 44 years (D) 12 years, 42 years

Q.6- A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27 years, then
how old is B? / A, B & &1 a¥ g137 &, St C A AT T &1 A A, B 3R C o1 et 3mg 27 ad &, Al B &Y 311G ettt &2
(A) 10 years (B) 9 years

(C) 8 years (D) 7 years

Q.7- Present ages of Sameer and Anand are in the ratio of 5 : 4 respectively. Three years hence, the ratio of
their ages will become 11 : 9 respectively. What is Anand's present age in years? / H#R 3 31eie & aciaiet 3y
ShaRN: 5:4 & AT A &1 cfieT a§ afTe;, SADT 3TY T HFUTT hAA: 11:9 & ST | 3HTeie; HY AT Y (st 3) a1
&2

(A) 27 (B) 24

(C) 40 (D) Can't be Determined

Q.8- Father is aged three times more than his son Ronit. After 8 years, he would be two and a half times of

Ronit's age. After further 8 years, how many times would he be of Ronit's age? / [MdT &t 3 370 g AT &
et a7 JHRIeh &1 8 a9 e, &g Afeled & 317 &1 &TS T[T @l9TT| 8 Y dTe;, aF NfeeT ehY 3 BT ERcTeAT T[T B2

(A) 2 times (B) 5/2 times
(C) 11/4 times (D) 3 times
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Q.9- A father said to his son, "l was as old as you are at the present at the time of your birth". If the father's age
is 38 years now, the son's age five years back was: / Teh Il & 370l GF & el, "H JFER STed & HHT Sclell &
9T T TSTcTall o acTaret 3 &I | i, IFelT Y 31y 313ty 38 o &, A ey a g g &hr 31y :

(A) 33 years (B) 19 years

(C) 14 years (D) 38 years

Q.10- The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the age of the

youngest child? / e 3 a§ & HARTeT W STod ol aTel 5 STl i 1T T JT 50 a§ &| T BIE Tey &l 57 &1

Y
(A) 8 years (B) 4 years
(C) 10 years (D) 6 years

Q.11- A mixture of 150 liters of wine and water contains 20% water. How much more water should be added so
that water becomes 25% of the new mixture?/ 150 &ffeX eRT 3iX UTET & TAOT & 20% UTET &1 EhdaT 3R 31RI%

UTAT BTATT ATTeT JTER TeT, T 40T &l 25% B SITU?

(A) 10 liters (B) 20 liters

(C) 30 liters (D) 40 liters

Q.12- A merchant has 1000 kg of sugar, part of which he sells at 8% profit and the rest at 18% profit. He gains

14% on the whole. The Quantity sold at 18% profit is: / Tes ATURY & U 1000 EHIT el &, F1est & o fewar ae

8% ST X 3R AW 18% o137 TR eIclT & | 58 ool BT 14% T T BITT &1 18% ST U =Y I1$ AT &

(A) 400 kg (B) 560 kg

(C) 600 kg (D) 640 kg

Q.13- 8 liters are drawn from a cask full of wine and is then filled with water. This operation is performed three
more times. The ratio of the quantity of wine now left in cask to that of the water is 16 : 65. How much wine the

cask hold originally? /RIS & $1X Teh HeaR A 8 aliex Il ST & 3R R urelt & 3R fear Srar &1 I ohar i

IR AR ERAT ST 1 379 heaR 3 Sl §5 RTd 1 AT T U1 A AT 16:65 & | ek H FeT T § Fhlell IRTd &2
(A) 18 liters (B) 24 liters
(C) 32 liters (D) 42 liters
Q.14- How many kilograms of sugar costing Rs.9 per kg must be mixed with 27 kg of sugar costing Rs.7 per Kg

so that there may be a gain of 10 % by selling the mixture at Rs.9.24 per Kg? / 9 U3 ufdmrell &I ST arelr
R BRI Tl &l 7 TUY UTAERal T 27 Tholl AT & TTYA AT ST AU JTEp T0T & 9.24 TuY ufa

[ERell OX el UX 10% T o1 &2
(A) 36 kg (B) 42 kg
(C) 54 kg (D) 63 kg

Q.15- The cost of Type 1 rice is Rs.15 per kg and Type 2 rice is Rs.20 per kg. If both Type 1 and Type 2 are
mixed in the ratio of 2 : 3, then the price per kg of the mixed variety of rice is: / TS 1 dTad &I AT 15 FUY

TRl 3R 8T 2 =Teret hr e 20 Tud UidEhel §1 IfE T3 1 3R 23T 2 St Bl 2:3 & 7urd 3 [T STl

¥, A ITae A AT EFEH T UTaThel e &:

(A) Rs.19.50 (B) Rs.19

(C) Rs.18 (D) Rs.19.50

Q.16- A jar contains a mixture of two liquids A and B in the ratio 7 : 5. When 9 liters of mixture are drawn off and
the jar is filled with B, the ratio of A and B becomes 7 : 9. How many liters of liquid A was contained by the jar

initially? / Teh STR 3 &1 el erd A 31X B &1 IHAOT 7 : 5 & 3e[UTcl & &1 9 S BT fehrell STTell & 3iR SR ahr
el B & 91 Te=m STl &, &Y A 3R B &7 3e]UTel 7: 9 &1 STl & | Tl oi1ex akel A E H SR S RT GATTRcl ERET I
AqT?

(A)- 10 (B) 20
(C) 21 (D) 25

Q.17- The diluted wine contains only 8 liters of wine and the rest is water. A new mixture whose concentration is
30%, is to be formed by replacing wine. How many liters of mixture shall be replaced with pure wine if there was

initially 32 liters of water in the mixture? /TAM®A RTT H hadl 8 oileY AR & 3R AW relt &1 Teh A1 mIH0T fSghr
Hlegl 30% ¥, XTI o TUTT WR AT ST 81 FE TA0T H & 32 ofie UTell AT &Y Ehclel olleY BT Y g WM
& 1Y Tl SITUIM?
(A) 4 (B)5
(C) 8 (D) 10
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Q.18- A milk man sells the milk at the cost price but he mixes the water in it and thus he gains 9.09%. The
quantity of water in the mixture of 1 liter is: / Teh G &Tell G4 Y 3d Hed WX IAAT § WAFhed T¢ 39 H UIAT BT &

3R 39 UPR 37 9.09% T olTH BT &1 1 olleX & BTH0T H Uit b AT 8

(A) 83.33 ml (B) 90.90 ml
(C) 99.09 ml (D) 83.90 ml
Q.19- In a mixture of milk and water the proportion of water by weight was 75%. If in 60 gm. of mixture, 15 gm.

water was added, what would be the percentage of water? (Weight in gm.) / g4 3R Ul & YT FH a9 &
AT & UTell &1 37T 75% AT| I 60 FTH HHAOT 3 15 TS UTeAl BFelT AT ST, Al arelt &b UfdRrel Ehcer glam?

(TSIt IMH FH)
(A) 80% (B) 70%
(C) 75% (D) 62%

Q.20- The ratio of water and alcohol in two different containers is 2:3 and 4:5. In what ratio we are required to
mix the mixtures of two containers in order to get the new mixture in which the ratio of alcohol and water be

7:5? | @ 3eldT - 37T ekl # UTell 3R 3ehigel BT U 2:3 3R 4:5 ¥ T THHUT Ut i & BV & B

3UTT & € heaRT & BFAOT Y BTCITAT B9 fSIHe QRT3 UTell & 3eJurd 7: 5 812

(A)7:3 (B)5:3

(C)8:5 (D)2:7

Q.21- If selling price is doubled, the profit triples. Find the profit percent? / If¢ Wwaﬁwaﬂﬁmma’f

19T TITTAT 1 STt & | o1ey Ufcteret iref hiforar?

(A) 100% (B) 200%

(C) 300% (D) 400%

Q.22- A shopkeeper cheats to the extent of 10% while buying and selling, by using false weights. His total gain
is: / Teh EEhTGR FAeholl citel &1 ST ehich TUG-TIEhT el HTT 10% T AT cTeh UIGT el & | SHBT Pl o1

(A) 20% (B) 21%

(C) 22% (D) 23%

Q.23- By selling 45 lemons for Rs.40, a man loses 20%. How many should he sell for Rs.24 to gain 20% in the
transaction? / 45 =ie Y 40 TUA H I W, Teh ITSHT Bl 20% BT T Bl & [I-GeT H 20% T AT UTCl A D

[T 38 24 30 A Fhclal Al a1 dTfeu?
(A) 16 (B) 18
(C)20 (D) 22

Q.24- If the cost price of 12 pens is equal to the selling price of 8 pens, the gain percent is? / If¢ 12 ToAHAT &1

T FAT 8 el b [Hh Hed o aXTeR &, ol ol U &2
(A) 12%q (B) 30%
(C) 50% (D) 60%

Q.25- If books bought at prices ranging from Rs.200 to Rs.350 are sold at prices ranging from Rs.300 to Rs.425,
what is the greatest possible profit that might be made in selling eight books? / If& 200 TUJ & 350 ¥UY ddh dhr

HIAAT IR TWIET TS ERATE 300 IUY H 425 TUA deh T DA G T ST &, al TS ERdTEl Bl a0 3 T aa7

T ITST T & TehelT &2
(A) 600 (B) 1200
(C) 1800 (D) None of These

Q.26- The percentage profit earned by selling an article for Rs.1920 is equal to the percentage loss incurred by
selling the same article for Rs.1280. At what price should the article be sold to make 25% profit? / Uﬁ?—‘dﬂﬁo

1920mﬁaaﬁruuﬁacr%?mamma'\!-§raﬁ1280mﬁmw§0uﬁrammﬁa€w%l 25% oITH

AT & [FT € P FHE HIAC TR ST ST AMRT?

(A) Rs.2000 (B) Rs.2200
(C) Rs.2400 (D) Data Inadequate

Q.27- If the cost price is 25% of selling price. Then what is the profit percent? / If¢; ha e, [Fhd Hed BT 25%
| A e gfaerd Fam 82

(A) 150% (B) 200%
(C) 300% (D) 350%
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Q.28- Himesh got 30% concession on the labelled price of an article and sold it for Rs.8750 with 25% profit on
the price he bought. What was the labelled price? / f@@1RI & Teh a&] & 37Ehcl Hed W 30% T Fe UTed H1 3R 38

TS ITT T W 25% o1 & WY 8750 I H o7 &AT| 3R Hed &7 AT?

(A) 10000 (B) 12000
(C) 13000 (D) 14000
Q.29- A shopkeeper sells two articles at Rs.1000 each, making a profit of 20% on the first article and a loss of

20% on the second article. Find the net Profit or loss that he makes? / Teh gehleIgR &l q{-glsﬁ T 1000 3T YD
TR el &, Teell a&d W 20% T o1 3R q@d a&d W 20% &l gifel T T 1 58P GaRT FRAT IRAT g AH

1 gl A1 hiforu?

(A) 4% (B) 5%

(C) 6% (D) 8%

Q.30- A person incurs a loss of 5% be selling a watch for Rs.1140. At what price should the watch be sold to

earn 5% profit? / Teh T2 Pl 1140 TUY H d°< T Teh A Tard Y 5% FT &1f BT &1 5% 19T 37T it b T g2t

DI ERY HIAT U ST SATAT ATfRT?
(A) Rs.1200 (B) Rs.1230
(C) Rs.1260 (D) Rs.1290

Q.31- If the salary is distributed between A, B & C in the ratio of 3: 2: 5. How much money will C get out of
Rs.1260?/ If& A= &l A, B 3R C o & 3: 2: 5 & 37]uTel 3 (AR ERAT ST &1 C T 1260 20 3 I Ehciall ST
[FeIdT?

(A) 252 (B) 125

(C) 503 (D) None of these

Q.32- 5600 is to be divided into A, B, C, and D in such a way that the ratio of share of A: Bis 1: 2, B: Cis 3: 1,

and C: D is 2: 3. Find the sum of (A and C) and (B and C)./ 5600 @' A, B, C 3iR D & 58 YR M ERAT SITAT
¢ 0P A: B & &8 &7 31e7urdl 1: 2, B: C &I 3: 1 3iR C: D &7 37urd 2: 3 &l (A 31K C) 3iR (B 3R C) o FNr AT

S|

(A) Rs.2400, Rs.3000 (B) Rs.2000, Rs.3000
(C) Rs.2400, Rs.3200 (D) Rs.2000, Rs.3200
Q.33- The ratio of income of two workers A and B are 3: 4. The ratio of expenditure of A and B is 2: 3 and each

saves Rs.200. Find the income of A and B./&Y SlHe! A 3R B &l 3R &l 3701 3:4 §1 A 3R B & <& &7 3HeUTdl

2:3 & 3R 3737 & U 200 T0Y I £1 A 3R B 61 33 A1 Hifoe|

(A) 500, 600 (B) 600, 800

(C) 600, 900 (D) 800, 1000

Q.34- The price of silver-biscuit is directly proportional to the square of its weight. A person broke down the

silver-biscuit in the ratio of 3: 2: 1, and faces a loss of Rs.4620. Find the initial price of silver-biscuit./ a&I-fafEwe
T T SHh AR & I & FHTUTH SIcll & Ueh eaTed o =el-[aTehe Pl 3: 2: 1 & 37U # dlsT 3R 38 4620 20

Y EIT T HIHAT DHIAT UsT | ATEN-fATERE 1 UM Hed AT M

(A) 7520 (B) 7530

(C) 7560 (D) 7450

Q.35- The ratio of income in two consecutive years is 2: 3 respectively. The ratio of their expenditure is 5: 9.
Income of second-year is Rs.45000 and Expenditure of first-year is Rs.25000. Find the Savings in both years

together. /IR & ST 3 3T T HJUTCT haAT: 2:3 §| Selh < &l HeJUT 5:9 &1 GEN a¥ &l 317 45000 20 3R

TYUH aY HI eI 25000 TUY & | ST aui I T ATYT TId AT HIfoiT|

(A) 5000 (B) 7000

(C) 6075 (D) 8025

Q.36- A bag contains Rs.410 in the form of Rs.5, Rs.2, and Rs.1 coins. The number of coins is in the ratio 4: 6:

9. So, find the number of 2 Rupees coins. /T 1 & 5 24, 2 TUY 3R 1 TUY & DD & T H Pl 410 TUI 2

[EeFep chY TEAT 4:6:9 & TIUT H &1 37cl:, 2 T & DRI bl HEAT AT FAT

(A) 40 (B) 50

(C)e60 (D) 70

Q.37- The ratio of copper and zinc in a 63 kg alloy is 4: 3. Some amount of copper is extracted from the alloy,
and the ratio becomes 10: 9. How much copper is extracted? /Teh 63 [ERIIT IRAUT 3 il 3R ST &7 3T 4:3

gl EB-WU@@@E&M & e BT ST &, 3R 3T 10:9 81 ST & | ERcl=AT 1T fehTelr SiTelm &2
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(A) 8 Kg (B) 6 Kg
(C) 12 Kg (D) 10 Kg
Q.38- Rs.7800 are distributed among A, B, and C. The share of A is the 3/4 of the share of B, and the share of B

is the 2/3 of the share of C. Find the difference between the share of B and C./ A, B 3R C & €I 7800 3ux
[T FEPT 10 &1 A T [T B & REQ &1 3/4 &, 31 B o1 oEdr C & REQ o1 2/3 1 B 31K C & g & e &hr

IR AT HIfAT|
(A) 1200 (B) 1300
(C) 1500 (D) 800

Q.39- The ratio of the total amount distributed in all the males and females as salary is 6: 5. The ratio of the
salary of each male and female is 2: 3. Find the ratio of the no. of males and females./&3ff q&uT 3 AR A

I & FG H HART Pl RN DT AU 6:5 & | Tcdeh T2 3R Al &b Il BT AU 2:3 ¥ | GouT 3R Al A

T I AT AT DIV

(A)5:9 (B)5:7

(©7:5 (D) 9:5

Q.40- If Rs.782 be divided into three parts, proportional to %:%:%, then the first part is:/afg 782 TqA I i ST
222> & AT 3 ErSTSIT BT ST, & Ul 8 3

(A) Rs.182 (B) Rs.190

(C) Rs.196 (D) Rs.204

Q.41- How much time will it take for an amount of Rs.450 to yield Rs.81 as interest at 4.5% per annum of simple
interest? /450 U T IMRT & [FT ATIROT SATS & 4.5% UTAY Hl &I F ATl & T A 81 TUY YTt Il 3 Ehclell

THY SINM?
(A) 3% (B) 4%
(C) 5% (D) 6%

Q.42- A sum of Rs.1600 gives a simple interest of Rs.252 in 2 years and 4 months. The rate of interest per
annum is:/1600 TG I IR 2 ATl 3R 4 AL 3 252 TUY P ATIROT <71 Sl &1 I I <I1oT X &

(A) 6% (B) 6:%

(C) 65% (D) 6%

Q.43- If the rate increases by 2%, the simple interest received on a sum of money increases by Rs.108. If the
time period is increased by 2 years, the simple interest on the same sum increases by Rs.180. The sum is:/af¢

e H 2% & grig BIch &, 7Y ERET ARN TX UTC HTUROT ATs1 H 108 3T I g Tl ¢ | AT FHAATER 3 2 a9 &1 g

Y ST &, A FAT RN UL ATYROT SATST H 180 U Y g Bcll &1 TR 2

(A) Rs.1800 (B) Rs.3600

(C) Rs.5400 (D) Data Inadequate

Q.44- Raghav invested an amount of Rs.13900 divided into two different schemes A and B at the simple interest
rate of 14% p.a. and 11% p.a. respectively. If the total amount of simple interest earned in two years be

Rs.3508, what was the amount invested in Scheme B? RTad & $haAQl: 14% Ufday 31 11% Ufady &I Gremor
TS ST WX S 3TIT-37el9T ANSTaTr3i A 3R B & mHIfoId 13900 TUA Y T &1 f3der mpam| Ife ar auf & 35T

HIYRT SATST T el ART 3508 TUAR, ol ATl B 3 Teyerer v a1$ T ar=am Ar?

(A) Rs.6400 (B) Rs.6500
(C) Rs.7200 (D) Rs.7500
Q.45- A sum of Rs.2600 is lent out in two parts in such a way that the interest on one part at 10% for 5 years is

equal to that on another at 9% for 6 years. The sum lent out at 10% is:/2600 ¥ &I IRT BT &T AT H 5H e
YR a1 STAT & 0F T 78 IR 5 A1l o [T 10% Pl &3 & 1T 6 Tl o [T 9% TR TS b aRTeR &1 10% T

YR &I 918 TR &
(A) Rs.1150 (B) Rs.1250
(C) Rs.1350 (D) Rs.1450

Q.46- If the compound interest on a certain sum for 2 years at 10% per annum is Rs.525. The simple interest on
the same sum for double the time at half the rate percent per annum is:/3fe; Teh fAT¥IT TRI W 2 a9 & [T 10%

iy T eX & Tehg g SATST 525 T ¥ | HATA ART TR Gfdad &1 3mell & F I FHT WX ATUROT AT &

(A) Rs.400 (B) Rs.500
(C) Rs.600 (D) Rs.800
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Q.47- The difference between compound interest and simple interest on an amount of Rs.15000 for 2 years is
Rs.96. What is the rate of interest per annum? /15000 U2 &7 TRIN 2 HIel & WU ThgE ATl N FIIROT TS

& a1 37X 96 TUY § | gfaay Tt e o T &2

(A) 8 (B) 10

(C) 12 (D) 15

Q.48- The difference between simple and compound interests compounded annually on a certain sum of money
for 2 years at 4% per annum is Rs.1. The sum is:/Te& fAad TRI WX 2 a9 & [T 4% ufaday Hr gz & araror iRk
Uhq I <TTST o dfIe &1 IR T, 1 &1 TR &

(A) Rs.625 (B) Rs.630

(C) Rs.640 (D) Rs.650
Q.49- There is 60% increase in an amount in 6 years at simple interest. What will be the compound interest of

Rs.12000 after 3 years at the same rate? /ATUROT STl WX 6 6T 3 Teh TR H 60% &N Jg Bt &1 3 a§ arg 38

&Y W 12000 UL T Thq [ STTST Ehclell F1IM?

(A) Rs.2160 (B) Rs.3120
(C) Rs.3972 (D) Rs.6240
Q.50- Kamal took Rs.6800 as a loan which along with interest is to be repaid in two equal annual installments. If

the rate of interest is 25/2 %, compounded annually, then the value of each installment is:/@ael Tdh FOT ST
TP SATST o HIY AT TR AN ERAT 3 YTl STl &, & §U H Rs.6800 o [BrT| I &1l T &T 25/2% &, ST
AT §T F HAIST &, T Tedeh [EHRCT T ol &

(A) Rs.4200 (B) Rs.4150
(C) Rs.4050 (D) Rs.4000
Q.51: 8%2%of ?= 723 +45
(A) 1200 (B) 1400
(C) 1100 (D) 1020
Q.52: 0.027% x 0.09% + 0.3° = 0.3’
(A)3 (B) 2
(C)4 (D)6
Q.53: V96 x12+18+26—-9="7?
(A) 81 (B) 812
(©)3 (D)9
Q.54: 0.064 x 0.47 = 0.4” x 0.0256
(A) 17 (B) 2
(C) 18 (D)3
Q.55: (V?—1)2=8-+/28
(A) 6 (B)4
©9 D)7
Q.56: (V?%of V1764 x5) = 149.8 — 112
(A) V18 (B) 18
(C) 324 (D) 3.24
Q57: (V5—v10)' + (VZ+5) = (2)3 — 22
(A) V2 (B) 4
(C) 16 (D) 8
Q.58: /33124 x /2601 — (83)%? = (?)% + (37)?
(A) 37
(B) 33
(C) 34
(D) None of These

. (0.73)34(0.27)3
Q.59 (0.73)2+(0.27)2-0.73x0.27 =7?
(A) 0.27 (B) 0.4087
(C)0.73 (D)1
Q.GOZ 0.47%0.47+0.35%0.35—2%0.47%0.35 =2

0.12

(A) 0.1 (B) 0.12
(C)0.3 (D) 0.2

23| MOB:9795977779,9795977776 LUCKNOW- INDIRA NAGAR, ALAMBAGH ‘Come to Learn...Go to Serve...!




61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

If x=asinf+bcosf and y =acosfd — bsinf, then x? +y2=? /afe x =asin + bcosO =M
y=acosf —bsinh 2 @t x? +y? =?

(A a?+ b? (B) a?-b?

(C) ab (D)  None of these

A man spends 75% of his Income. If his income increases by 20% and his expenditure increases by 10%
then find the % increase in his saving? /T& e U HATE &1 75% @d &xar 2 | afs saa! 918 20%
ar wd 10% 9 og, a1 U I9d ¥ fHad ufoea @ gfyg @A

(A 40% (B) 30%

(C)  50% (D)  60%

A man saves 16% of his total income of Rs 5000 per month. How much does he spend? /g smeT 3o
Fl HATS © 5000 T ABIH BT 16% 99d Al © | SUDT @ a1 27

(A) 4200 (B) 5800

(C) 8200 (D) 9000

A person covers the distance of 10% km. in 3 hours. Find the distance covered by him in 5 hours? /t&
mﬁﬁ10%ﬁmﬁaﬁqfrsﬁéﬁmm%|wwﬁ?rm5ﬁéﬁaﬂaﬁﬂs‘qﬁml

(A)  15km (B)  16km

(©)  17km (D)  18km

Find the smallest number, which when divided by 8, 12, 20 and 25 leaves a remainder 5 in each case?/
a8 Bidl 4§ Bid) gEar sg sifvig ot afe 8, 12, 20 @iy 25 @ fawfoa fear Wi df yd® srazen ¥ 5 99
T |

(A) 595 (B) 605

(©) 1205 (D) 1195

Area of a triangle is 250 m? and the ratio of its base and height is 4:5. Find the height of the triangle?
[Tl frst &1 @awer 250 m? @ qAT IUD AR T HAE DI U 45 2 | g A Sard sa@ difvg |
(A 20m (B) 25m

(©) 30m (O) 15m

What is the position of 430 in a series formed by numbers satisfying the condition that any number when
divided by 17 leaves a remainder 5 and when divided by 6 leaves a remainder 4? / T&IT3T <RI EIHT:% Tré

G H 430 1 TEATT &A1 & S 38 AT T HJSC B & B OHET o F&ar & 17 & maToid
A W 5V 3R 6T EATIT B W HIS AW4 BISAT &2

A 4 B) 6
<€ 7 (D) 18
. . Ay &F ==y 2R

Find the smallest fraction among ! &;/g,a % &71? w9 Bid i 27
(YR ® 7

6 9
© 2 ((3) ]

5 7
Evaluate (3c0s?30° +sec?30° + 2cos0° + 3sin90° — tan® 60°)/ (3cos?30° +sec?30" +2cos 0 +
35in90° — tan? 60°) &T HeATehel B
A 51 B 72

12 12

© 52 © 12}

th
The difference between the% and 45% of a number is 56. Find the 65% of that number. /fzlY WwaT =

th
g dem 45% | 56 BT AR B | SH AT BT 65% ATd BT |

(A) 96 (B) 104
€ 112 (D) 120
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

A, B and C working together finish a piece of work in 4 days. If A and B together finish in 12 days and A and
C working together take to finish the work? / A, B 3R C T A1Y &1H &l gU 4 f&al 3 @A QU
od 21 afe AR BUH @y 12 oAt & FACT @ S § 3R A IR C TP A1y AR Hre [
P §?

(A) 8 B 9

<€ 3 (D) 6

LCM of two numbers is 20 times of their HCF. The sum of LCM and HCF is 2520. If one number is 480,

then find the second number? /31 H&I3T &T @0H0 SID HOHO &I 20 I[AT B | W0HO 3N HOHO HT AT
2520 © | AME U HEAT 480 © dl qEY H&AT qdrsy |

(A) 400 (B) 480
(C) 520 (D) 600

If the average of 3 numbers is 17 and the average of first 2 numbers is 16. Find the third number? /afg
a9 dEae &1 Sitad 17 qAT VAW QT WA BT dAd 16 2 | I W gra s |

A 1 B) 16
© 17 O) 19
A train running at 36 km/h takes 10 s to pass a telegraph pole. How long would it take to cross a platform 110 m

Iong?/mmaﬁmmﬁ36mmaﬁWﬁmmaﬂ'ﬁ10mmg|
T 110 X &Fd Tolehid &l TR I H el THAT Toram?

(A)  25s (B)  31s

© 21s (D) 33s

An unbiased dice is thrown. What is the probability of getting a multiple of 3?/ Tch fvuer arar %t ST
1 3 & TUTST UICT @il hT AT T 2

(A) (B)
(®) (D)

If two coins are tossed simultaneously, then find the probability of getting at least 1 Heads? / afe <
fHa®l 1 TH A1l IBTAT AT 8, A1 &7 4 H¥ (S s AN B URiedr 9a1sy |
(A) 1 (B) 2

4
© 3 (D)

4
A man covers half of his journey at 6 km/h and the remaining half at 3 km/h. His average speed is/ Tdh 3T

37T ATAT T 3TUT AT 6 BhATEET 3R AW 34T 3 ERATECT & ITr @ I AT &1 ST

wWiNW | R
N =& -

=

3rad 9 ©
(A) 9 km/h (B) 4.5 km/h
© 4 km/h (D) 3 km/h

If x:y::2:3 and 2:x::4:8, then find the value of 'y'? /af& x:y::2:3 @ 2:x::4:8 @ at 'y &1 a9
1d SIS |

A 6 B 8

€ 4 (D) 12

A man sells an article at a profit of 25%. If he had bought it at 20% less and sold it 30%. Find the cost

price of the article / Teh 3TEHT 25% P TH W Th i@ 9T & | 3R 3T 3H 20% Ha W Tler 3R
30% 7| oG Y AT HoF A1 HfFT

(A)  Rs.20 (B) Rs.30

(C) Rs.40 (D)  Rs.50

Simplify the following /axer @ifog |

171 +19%x9 —70 + 81

A 12 B o0

<€ 92 D) 81
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

How long a Rod of maximum length can be put in a room of 30 m Length, 24 m breadth and 18 m
height? /30 Mt ¥, 24 M @3 3R 18 M FaAE ard R A fHraN o Agcw T & B T o
Aodl 8?2

(A 30vV2Zm (B)  25v2m

©)  35V6m D)  32¢2m

x% of x is the same as 10% of/ x bl x% 10% & AT %

(A) E (B) £

© x (D) None of these

10
The average age of a class is 15.8 years. The average age of the boys in the class is 16.4 years and that of the girls is

15.4 year. What is the ratio of the boys to girls in the class?/ Uch <h&IT #r 3iaa 3T|'~’i_|; 15.8 9§ %I heTT H
oISl @ T Y 164 a¥ § 3R FSERAT AT 15.4 g¥ ¥| BT H olght IR ASERAT B

3T T &
(A) 1:2 (B) 2:3
© 3:4 (D) cannot be determined

The mean of five numbers is 18. If one number is excluded, their mean is 16. The excluded number is / U= I&IT37t
T ATEY 18 | e Tep FLAT T ITe TWT ITAT &, ol SeTehl ATEY 16 | [prol 718 T&ar &

(A 25 B) 926
© 27 ®) 30

The average weight of 15 students is 54 kg. The average increases by 2 kg, when we also include the

teacher. What was the weight of teacher? /15 Bl &1 3il¥d AR 54 fHUT 21 9 &9 39 AsqTAD B
I ®xd & o s 2 f6uT 9¢ SIrar @ | 3eaad b1 AR fhaer 27

(A)  75kg (B)  95kg
(C) 78kg (D) 86kg
A dealer buys an article marked at Rs. 25000 with 20% and 5% off. He spends Rs. 1000 on its repairs and sell it for
Rs. 25000. What is his gain or low per cent?/ Teh $TeR 20% 3 5% T T & |y 25000 TUA WX Teh TE] Gllerct

T | I SN FIFAT W 1000 TUF TT AT & 31 38 25000 FUY 3 ST & | SHDT ST AT el UTARId T &2

(A) Loss of 25% (B) gain of 25%

© gain of 10% (D) loss of 10%

If tan? 45° — cos? 60° = x sin? 45° — tan? 60°. Then what is the value of x? /afe tan? 45" — cos?2 60" =
xsin?45° —tan® 60° 2, d x &1 | S B |

(A) 12_7 (B) %
©c D (D) 21
2 2

The ratio of two numbers is 3:4 and their sum is 420. The greater of the two numbers is / &I TEIT3T &1 3qUT 3: 4
& 31X 3eTehT 19T 420 | &Y HEAT3HT H 8 3RE &

(A) 175 (B) 200

© 240 (D) 315

25% of what amount of money is equal to 12%% of Rs 180?/ [Fh XTRT & 180 h 12%% % TR %\-?
(A) Rs 120 (B) Rs 75

(C)  Rs80 (D)  Rs90

The price of an LCD is Rs 28000. On the occasion of Diwali, the price of LCD gets reduced by 20%. Find
the new price of LCD?/ Y& LCD @1 &1\d © 28000 2 | faarell @ 3@ax Wk LCD &Y ®9d 20% &4 & oI
21 LCD &) <¥ PId qarsv|

(A)  Rs 42200 (B)  Rs 22400

(C)  Rs21400 (D) Rs 22500
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91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

The product of two numbers is 20535. If their HCF is 37 then find their LCM? /31 €=l &1 [oH®Ha
20535 B | Ife SIHT HOWO 37 & 1 SIHI <I0W0 ST BT |

(A) 565 (B) 555
(C) 455 (D) 558
The base of a triangle is 15 cm and height is 12 cm. The height of another triangle of double the area having base

20 cm is/ Teh TYERIUT T HTUR 15 {AY 3T 1S 12 FAT & | 94 20 YHT ATl SeTel TRAT &b g@Y FAepI0T b1 S5a1s &

(A)  9cm (B) 18cm

(C) 8cm (D)  12.5cm
Jﬁ +6 +V6 + o .isequal to /Jﬁ +6 46+ FREE
) ® 5

© 4 © 3

An article is sold at a certain price. By selling it at g of that price one loses 10%. Find the gain per cent at original
price./ Teh T Teh AU Hed W =T Sl &1 58 38 AT & 2/3 W dM T oG
10% BTl BT &1 aEdED Hed U o Ul Ureel &
(A  35% (B)  25%
© 45% (D) 55%

If the ratio of cost price and selling price of an object is 5:6. Then find the profit? /afe faft avg @& =a
e aeI fa%a oI &1 31JUrd 5:6 © | Al 9faed o9 9a1sy |

A 25% (B)  30%

<€  20% (D) 33%

If the width of a rectangle is 2 metre less than its length and its perimeter is 32 meter then the area of
the rectangle is ?/ foxft amaa @) diers sUd) 9 @ Hiex w9 @ qenm uReg 32 Hiew &)
ATId BT &A%ho Iarsy |

(A)  224sqm (B)  108sq.m.

(C)  99sq.m. (D)  63sqg.m.

Distance between two stations X and Y is 778 km. A train covers the journey from X to Y at a speed of 84
kmph and returns to X with a speed of 56 kmph. Find the average speed of the train (in kmph) for the
whole journey. /a1 ®&e=l X 3R Y & @3 @t g 778 f&h 2| o It X 4 Y 9@ & g8 84 fHeht ufa
°eT @ ard 9 99 A 8 a7 99 X a6 56 R ufy "er o) ava @ ot 21 ¢ Imn 7 Y@ a6
sitaa ara (fes ufa =er) [arsy

(A)  67.2 ® 70
(C) 68 O 72
Find out the sum, for which the difference between the compound and simple interest, for 3 years at the

rate of 10% per annum, would be 31? /afg f&el qag7 & fay 10% &1 <X € 3 auf ¥ FHgfg a1 T=2N
IR FTS &1 AR 31 B, Al 98 a9 Ad P

(A) 1500 (B) 1200
(C) 1600 (D) 1000

The ratio of the radius and height of a cone is 5 : 12. Its volume is 314 : cm. Its slant height is/ Teh Qi?faﬁ 3T 3R

TS &7 TN 5: 12 ¥1 ST 3T 314 - Jaf ¥ | swhy oy S 3

(A 13cm (B)  14cm

© 17 cm (D) 26 cm

45 men can finish a task in 16 days. After 6 days, 30 more men join them. How many days, will they all,

now take to complete the remaining task? /45 smeil fazft &™ &1 16 AT § & Wwa &1 Af} 6 fo=T
q15, 30 e e &x fad o¢ ot s@ @ 9 ey Ay &t fead Al & wwma & o412

A 6 (B) 8
© 10 (D) 12
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1. B 26. A 51. A 76. C
2. D 21. C 52. C 77. C
3. D 28. A 53. D 78. A
4. A 29. A o4. B 79. D
S. C 30. C 95. D 80. C
6. A 31. D 56. D 81. A
7. B 32. D 57. B 82. B
8. A 33. B 58. D 83. B
9. C 34. C 99. D 84. B
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Timing: 120 minutes CENTURION DEFENCE ACADEMY M.M: 50

TA (ENGLISH + GS) TEST PAPER

ENGLISH/ANTONYM EXERCISE

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

He is an industrious workman.

(A) active (B) productive

©) lazy (D) disloyal

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

Plants grow in abundance here.

(A)  shrivel (B)  stretch

(C)  spread (D)  enlarge

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

She rarely comes here.

(A) seldom (B) never

(C) always (D) frequently

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

She is a rather crooked woman.

(A)  polite (B) generous

(C)  straightforward (D)  happy

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

Spring is a time of plenty.

(A) ugliness (B) scarcity

(C)  roughness (D)  dryness

ENGLISH/COMMON ERROR

You have been given a sentence in which there is some error. you are required to find out that part
sentence and mark it as your answer on the answer sheet. Error may be related to grammar,
construction usage or anything else.

(A)  We must sympathize (B)  for others

(C)  intheir troubles (D)  No error

You have been given a sentence in which there is some error. you are required to find out that part
sentence and mark it as your answer on the answer sheet. Error may be related to grammar,
construction usage or anything else.

(A) Had | not taken ill, (B) | would have sent you

(C)  myresearch paper much earlier (D) Noerror

You have been given a sentence in which there is some error. you are required to find out that part
sentence and mark it as your answer on the answer sheet. Error may be related to grammar,
construction usage or anything else.

(A) He had gone (B) home three weeks ago and was expected
(C)  back yesterday, but he has not come yet. (D)  No error
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You have been given a sentence in which there is some error. you are required to find out that part

sentence and mark it as your answer on the answer sheet. Error may be related to grammar,

construction usage or anything else.

(A) The barn owl helps the farmer by(B) rats which could, if left unchecked,
destroying

(C)  do alot of damage to the crops. (D) Noerror

You have been given a sentence in which there is some error. you are required to find out that part

sentence and mark it as your answer on the answer sheet. Error may be related to grammar,

construction usage or anything else.

(A) | asked him that (B)  why he was angry
(C)  but he did not answer (D) Noerror
ENGLISH/PASSIVE VOICE

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.

Robin would draw a picture in the competition.

(A) In the competition Robin would have to(B) A picture in the competition would have

draw a picture. been drawn by Robin.
© In the competition Robin would be drawn a(D) A picture would be drawn by Robin in the
picture. competition.

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.
The noise of the traffic kept me awake.

(A) I remained awake by the noise of the(B) | was kept waking by the noise of the
traffic. traffic.
© | was kept awake by the noise of the traffic. (D)  The traffic kept me awake by the noise.

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.
Prepare yourself for the worst.

(A)  You be prepared for the worst. (B)  The worst should be prepared by yourself.
© Be prepared for the worst. (D)  For the worst, preparation should be made
by you.

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.

They have cut all the telephone wires.

(A)  All the telephone wires will be cut. (B)  All the telephone wires had been cut.

(C)  All the telephone wires have been cut. (D)  All the telephone wires shall be cut.

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.

The shopkeeper lowered the prices.

(A)  The prices lowered the shopkeeper. (B) The prices were lowered by the
shopkeeper.
© Down went the prices. (D)  The shopkeeper got down the prices.

ENGLISH/SENTENCE IMPROVEMENT EXERCISE

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

He is definitely the cleverer among the two.

(A) in (B) of

(C) than (D)  No improvement

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

He is resembling his father.

(A) has resembled (B)  was resembling

(C) resembles (D)  No improvement
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Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

A majority of the passengers could have been saved if the driver had applied the brakes in time.

(A) had been saved (B) may have been saved

(C) could have saved (D)  No improvement

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

| can be grateful if you could write to me about it.

(A)  would be (B)  should be

(C)  mustbe (D)  No improvement

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

Would you mind closing the window ?

(A) toclose (B) in closing

(C) for closing (D)  No improvement

ENGLISH/FILL IN THE BLANKS EXERCISE AND SPOTTING ERRORS

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

......... the broker had warned him that the stock was a ............ investment, he insisted on buying a
thousand shares.

(A) Because; prudent (B) Since; negligible

(C)  Although ;precarious (D)  As; vulnerable

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

The activities of the association have ........ from the ......... objectives set for it in the initial years.
(A) Grown ;simple (B) Deviated ;original
© Details ; grand (D) Emerged ; total

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

Those suffering from glaucoma find that their............ vision is and that they can no longer see
objects not directly in front of them.

(A)  Optical ; distorted (B)  Peripheral; demurred

© Periphrastic; demurred (D)  Peripatetic ; diminished

ENGLISH/IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response
in your Answer Sheet accordingly.

A clarion call
(A)  Atrumpet call (B)  Anintimidating voice
(C) A strong request (D)  Anurgent order

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response
in your Answer Sheet accordingly.

Turn topsy-turvy

(A)  To completely change something (B)  To completely evaluate something

(C)  To enjoy yourself greatly (D)  To exhaust yourself completely
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Directions : Given below are some idioms/phrases followed by four alternative meanings to each.

Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response

in your Answer Sheet accordingly.

A hunky-dory situation

(A)  There are serious issues among people  (B)  There are no problems and people are
happy

(C)  There is war and bloodshed all over (D)  There is no work, only enjoyment

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.

Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response

in your Answer Sheet accordingly.

Fire in the belly

(A) Fear and hatred (B) Powerful ambition

(C) Love and dedication (D) Lethargy and indifference

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.

Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response

in your Answer Sheet accordingly.

Give somebody a leg up

(A)  To pull someone down (B)  To deceive and betray someone

(C)  To help someone for their livelihood (D)  To help someone to be successful

ENGLISH/SPELLING TEST

Find the correctly spelt word.

(A)  Adviceable (B)  Advisable
(C)  Advicable (D)  Adviseable
Find the correctly spelt word.

(A) Interegnum (B) Intregnum
©) Interregnum (D) Interregnim
Find the correctly spelt word.

(A) Puerille (B) Puerrile
(C)  Puerile (D)  Purrile

ENGLISH/SYNONYMS EXERCISE

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

My daughter is my replica.

(A)  pride (B) clone

(C) love (D)  original

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

She undertook a reconnaissance of the entire issue.

(A) revaluation (B) ratification

(C) investigation (D)  regularization

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

Arrogance is a hallmark of his nature.

(A)  concern (B)  unpretentiousness

(C)  conceit (D)  simplicity

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

The sardonic nature of her stories made her stand out among the contemporary writers.

(A) compassionate (B) insightful

(C)  mocking (D)  comic
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Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

She is a patron of art and culture.

(A) entrepreneur (B) admirer

(C)  critique (D)  backer

ENGLISH/ONE WORD SUBSTITUTION

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

A name adopted by an author in his writings

(A) Nickname (B) Pseudonym

(C)  Nomenclature (D) Title

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

Something that can be heard

(A)  Auditory (B)  Audio-visual

(C)  Audible (D)  Audition

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

A place where everything is perfect.

(A)  heaven (B)  platoon

(C)  cosmos (D) utopia

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

A plant or animal living on another.

(A) parasite (B) hydra

(C)  creeper (D)  bush

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

A sweet music.

(A) lullaby (B) melody
(C) folk song (D)  duet
ENGLISH/PASSAGE

Read the following short passages. After each passage, you will find several questions based on
what is stated or implied in the passages. Answer the questions that follow each passage.

The rule of the road means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policeman, say, at a road-crossing steps into the middle of
the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted to a
curtailment of private liberty in order that you may enjoy a social order which makes your liberty a
reality. We have both liberties to preserve — our individual liberty and our social liberty. That is, we
must have a judicious mixture of both. | shall not permit any authority to say that my child must go to
this school or that, shall specialize in science or arts. These things are personal. But if | say that my
child shall have no education at all, then society will firmly tell me that my child must have education
whether | like it or not.

The author is of the view that we should :

(A) have absolute individual liberty without any (B) have everything controlled by the society

restrictions imposed by the society without any kind of individual liberty
(C) try to strike a sensible balance between(D) have more of social liberty than individual
our individual liberty and our social liberty liberty
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Read the following short passages. After each passage, you will find several questions based on
what is stated or implied in the passages. Answer the questions that follow each passage.

The rule of the road means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policeman, say, at a road-crossing steps into the middle of
the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted to a
curtailment of private liberty in order that you may enjoy a social order which makes your liberty a
reality. We have both liberties to preserve — our individual liberty and our social liberty. That is, we
must have a judicious mixture of both. | shall not permit any authority to say that my child must go to
this school or that, shall specialize in science or arts. These things are personal. But if | say that my
child shall have no education at all, then society will firmly tell me that my child must have education
whether | like it or not.

According to the author, the "rule of the road" implies :
(A)  the rule regulating the traffic ontheroad (B)  the principle on which a road is constructed
to ensure safe traffic
(C)  unrestricted freedom for all to lead a happy(D)  restricted individual freedom to ensure
life freedom for all

Read the following short passages. After each passage, you will find several questions based on

what is stated or implied in the passages. Answer the questions that follow each passage.

The rule of the road means that in order that the liberties of all may be preserved, the liberties of

everybody must be curtailed. When the policeman, say, at a road-crossing steps into the middle of

the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted to a

curtailment of private liberty in order that you may enjoy a social order which makes your liberty a

reality. We have both liberties to preserve — our individual liberty and our social liberty. That is, we

must have a judicious mixture of both. I shall not permit any authority to say that my child must go to

this school or that, shall specialize in science or arts. These things are personal. But if | say that my

child shall have no education at all, then society will firmly tell me that my child must have education

whether | like it or not.

The author thinks that when a policeman signals you to stop on a road-crossing, he is :

(A)  behaving in a whimsical manner (B) interfering with your freedom to use the
road

(C)  protecting the liberty of all to use the road (D)  mischievously creating hurdles in your way
from some personal motive

Read the following short passages. After each passage, you will find several questions based on
what is stated or implied in the passages. Answer the questions that follow each passage.

The rule of the road means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policeman, say, at a road-crossing steps into the middle of
the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted to a
curtailment of private liberty in order that you may enjoy a social order which makes your liberty a
reality. We have both liberties to preserve — our individual liberty and our social liberty. That is, we
must have a judicious mixture of both. | shall not permit any authority to say that my child must go to
this school or that, shall specialize in science or arts. These things are personal. But if | say that my
child shall have no education at all, then society will firmly tell me that my child must have education
whether | like it or not.

The author holds that :

(A) educating or not educating his child is a(B) educating or not educating his child is also

matter of personal liberty a matter of social liberty
(C)  choosing the school for his child is a matter(D)  choosing the subject of study for his child
of social liberty is a matter of social liberty
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Read the following short passages. After each passage, you will find several questions based on
what is stated or implied in the passages. Answer the questions that follow each passage.

There are still a few people in northern Europe who think that global warming might not be such a
bad thing. In Britain, where summer can sometimes seem to last little more than a few weeks, many
would welcome the idea of it getting a bit hotter. Unfortunately things are not so simple. Global
warming doesn't just mean that the world will slowly get warmer. Paradoxically, it could cause certain
areas to get colder - a lot colder. The latest predictions are that northern Europe could even be
plunged into an ice age. While areas of south-eastern Europe, such as Greece, would continue to get
hotter and drier, Britain could find itself, in the winter months at least, surrounded by sea ice. The
reason for this concerns the Greenland ice sheet. This is one of the biggest expanses of ice in the
world - around 1,500km long and 600km wide. It is so big that if it all melted sea levels would rise by
7 meters. Due to rising emissions of greenhouse gases, such as carbon dioxide from the combustion
of fossil fuels, this ice sheet is melting at an alarming rate.

Which of the following statement is incorrect according to the passage?

(A)  The Greenland Ice sheet is melting at an(B) Global warming can make colder place

alarming rate due to rising emissions of much colder leading them to the era of an
greenhouse gases. ice age.
(C) The Greenland Ice sheet is around(D) If Greenland Ice sheet gets melt, the sea
1,500km wide and 600km long. level would rise by 7 meters.
ENGLISH/PQRS

Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P. Q. R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the
sentence and mark your answer.

P. himself

Q. achild

R. can usually feed

S. by the age of six months
The correct sequence should be
(A) QPRS (B) SRQP
(©) PQRS (D) QRPS
Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P. Q. R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the
sentence and mark your answer.

You'll

P. know how to do it

Q.have to

R.because she does not

S. help her
The correct sequence should be
(A) QSPR (B) SRPQ
(C) QPRS (D) QSRP
Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P. Q. R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the
sentence and mark your answer.

P. She

Q. and neither have |

R. the assignment yet

S. hasn't finished
The correct sequence should be
(A) QRSP (B) QPSR
(C) PQSR (D) PSRQ
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Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P. Q. R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the
sentence and mark your answer.

Every experience in life makes
P. on some of the cells

Q. or other nerve centres

R. of the brain

S. animpression

The correct sequence should be

SPRQ (B) QRSP
RSPQ (D) PSQR

Movement of materials to different parts of cytoplasm and nucleus is generally carried out
by/esiR@ea ik oca @ fafm 9 & gl &1 W9 am=a: feae grr fear smar 272

(A)  Ribosomes./ rgatwd (B)  Mitochondria./ sirget®ifegar

(C)  Lysosomes./ argaraid (D)  Endoplasmic reticulum./ gerwifsns Heagean
Squamous epithelial cells are found in the inner lining of/ere®! Suden ®IRGIE feas snalRes Az §
urg St 272

(A)  Oesophagus./ ara=Telt (B)  Small intestine./ gaia

(C)  Ducts of salivary gland./ @R ofer @1 afead (D)  Kidney./ g

In mitochondria, ATP synthesizing chemical reactions take place in the/arseisifgar & fea wrr § ¢l
. Wrdwvrer vafe afifsang sidy 82

(A) Outer membrane./ @1 f3reelt (B) Matrix./ #fgaa
(C©)  Inner membrane./ 3mdR® farecht (D)  DNA of mitochondria./ wigetsifgar & dga.
u.

Which one of the following is not used as a raw material in the manufacture of glass? /®ia & femfor &
frrafafaa § @ feuesr @7 o= 919 & ®u A T fHar sar 872

(A)  Soda/ ster (B)  Alumina/gqfir

(C) Borax/ e (gasrm) (D)  Gypsum/ foeas

Which one of the following is the chemical formula of Hypobromous acid ? /fr=fafaa & @ s
BIUIGIY I &1 EEG g3 27

(A)  HBro, (B) HOBr

(C) HBr (D)  HBro;

Which of the following pairs of physical phenomenon and the discover is/are correctly matched ?
[Aifae aReeat ok SUs @ieeal 4 ddfta Frsifalead § 4 sl—w/ea—a gm 9 wu 4 gifaa /272

1. James Chadwick : Photoelectric  effect/ <=1 3dAsfas : werr-—fRga wwa
2. Albert Einstein ; Neutron/ R rerd AT I : B Gk
3. Marie Curie ; Radium/ LN R : DL
Select the correct answer using the code given below./ i3 fag w¢ ®e &1 AT & wd Io) gy -

(A) 1,2and 3/1. 23k 3 (B) 1and2only/ &aa 1 3ir 2

(C) 2and3only/ &aa 2 ik 3 (D) 3only/ &qe 3

In electrolytic refining of copper, the electrolyte is a solution of/am & faga—smeeh uRsHzor ),

faga—amacy fr-ifalad & 4 feaer faaga 272

(A) acidified copper chloride./ srefigpa @&iur(B)  acidified copper sulphate./ srcligad ®iwR
ECIRES ABT

(C)  potassium chloride./ uifRRrm Feivigs (D)  sodium sulphate./ \ifsaw wewe

LED (a semi-conductor device) is an abbreviation that stands for/va.$.9). (v& 3elaras gfw) Frafataa

7 A fouer w@ftra wu 27

(A)  Licence for Energy Detector./ =nmgda »ik(B)  Light Energy Device./ @ige sl feagw
geToit fedaer

(C)  Light Emitting Diode./ @iige ufaféw smts (D) Lost Energy Detector./ @ifve wasif fseaex
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Which one of the following statements is most appropriate about ‘Exercise Kavach’?/ ‘s @ad’ &
TR ¥, fFeafafaa 4 @ 91 o wafte suy® 272
(A) It is a military exercise of the Indian Army(B) It is a joint military exercise involving the
only./ 98 @&dd AR AAATT ST A AN Indian Army and the Indian Navy only./ Iz
21 Pdad ARAI ol AR AR ARNET @1
g A= ra 2|

© It is a joint military exercise involving the(D) It is a joint military exercise involving the

Indian Army, the Indian Navy and the Indian Army, the Indian Navy, the Indian

Indian Air Force only./ 38 @dd ¥RdA Air Force and also the Indian Coast

Jeddl, ARd AR R aRdE agder $1 Guard./ @ ARd™ oedHl, ARG AN,

Y A= IR 2 | ARAT agA IR ARNT deREd BT YW
A= T B

Which one of the following statements is not correct in respect of the ‘Legion of Merit" award?/‘<fis=
I AR’ yweaR & weg A frafafaa ol 4 @ sla—ar wd) = 22
(A)  This award is conferred by the President of(B)  This award was conferred to the Prime

the United States of America./ a8 YR&HR Minister of India in December, 2020/ ¥z
qg® wsd RST @ Igufd gR1 uaE e PR fewsy, 2020 4 9RaG @ g qA Bl
S 2 | ga™ fear srar o)

(C) This was also awarded to the Prime(D) Itis the highest civilian award of the United
Minister of Australia, Scott Morrison./ s States of America./ dg Jgw® IST FMRSBT 1
TFBR AT faar @ o 5 wbic AileT &t walzd ANIR® gRHR 2 |

I ue= fobar wam oy
In the recently concluded elections in December 2020, Faustin-Archange Touadera has won a

second term in office as President of one of the following countries. Identify the country./sra & ¥,
fadaz, 2020 ¥ fafaa 9 wiRea—am@dw ¢evw A fr=ifaRad 4 4 & <o & Uxgufy & ug 3G W FdFHE >
forg Sfia ura @1 2| <2 &1 AW YA |

(A) Central African Republic/ #=a spia vRTSa(B) Republic of South Africa/ =féror  smpiat

(g vibae Rufeas) RIS (Rufeas 3ife A1SeT Uhia)
©) Republic of Ghana/ amr 1wrRisa (Rufsd® (D)  Republic of Mozambique/ wiwidie 1oRy
3% =1+) (Rufseta 3w Atoiidis)

Tableau of which one of the following States/Union Territory was adjudged best in the Republic Day
Parade, 20217/ wvids faaa W, 2021 4, fafafaa & @ fea vsa/de vsa—-a3 @) site) &1 adds siia)
® w9 ¥ a9 fear m?

(A)  Ladakh/ @zra (B)  Uttar Pradesh/ s@x wdwr

(C)  Tripura/ fagzr (D)  Uttarakhand/ sarrEs

Which one of the following rivers is not a tributary of river Brahmaputra?/ fre=ifafRaa # ¥ st ad)
8IYF T4l B GE—P <) T8 287

(A) River Manas/ sr=r4 <€l (B) River Kameng/ &R =

(C) River Mahananda/ sgr=igr 9d) (D)  River Subansiri/ gaafad =<

Which one of the following rivers is not a tributary of river Brahmaputra?/ fr=ifafaa # @ st ad)
g8IYa 14l @) GES Td) 8 27

(A)  River Manas/ w=a =it (B)  River Kameng/ & widt

(C) River Mahananda/ sgr=igr 9d) (D)  River Subansiri/ R <

The composition of gases in exosphere is/afgdea # A0l &1 Gaiw= Fa1 237?

(A)  Helium and Hydrogen./ gifermm aiix sggio (B) Neon and Oxygen./ fsifa @il sifafio=
(C)  Neon and Hydrogen./ it @itk gggisa (D) Helium and Neon./ @ifaaw aiix faeita
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73.

Consider the following statements about Light year : /u®rer ad & wde § fafafag somf w faar
PIFY :

1. Light year is a unit for measurement of very large distances./ w@rer ast aifo—drd gRAt wmw &1 W
21

2. Light year is a unit for measurement of very large time intervals./ warer ad sifa—dre sra—siawrar amg
@1 AAD 21
3. Light year is a unit for measurement of intensity of light./ s&rer asf y&rer @t daar 719" &1 71536 2 |
Which of the statements given above is/are correct ?/ $ux faar w/faw ¢ sl9—ar/ala—4d &= ad)
2/2?

(A) 1,2and 3/1, 23k 3 (B) 2and3only/ &ad 2 3k 3

(C) 1and2only/ &ad 1 3MR 2 (D)  1only/ ®aa 1

At which one of the following places was a Shiva temple not constructed under the patronage of the
Chola rulers? /fFr=faRaa & @ fow w9 R ald ssl & e 9 R w@few 1 fmfor 98 fear @ on?
(A)  Chidambaram/ fage=s (B)  Thanjavur/ dsirgR

(C) Gangaikonda Cholapuram/ itsier atargzs (D)  Naneghat/ siotare

Which of the following statements about Saguna bhakti traditions is/are correct?/s[er wfth ujuxisl &
L) L frrfefea L K| BTt/ ST GG 23/87?
1. Saguna bhakti traditions focus on the worship of specific deities such as Vishnu or his avatars./
o A wWog faRme Qqael, 9, fawp a1 SFe sm@art @Y emmem W afew &
2. In Saguna bhakti traditions, Gods and Goddesses are conceptualized in anthropomorphic forms./
T ARp g uRTAT 3, <dl wd ECGI @ JqEROT AFATFHA (WHW%’I)

wul q L] STl

Select the correct answer using the code given below /= f&g ¢ ®e &1 9@ SR | IR gAY -
(A)  1only/ @ae 1 (B) 2only/ ®ad 2

(C) Both1land2/1 3k 2 g=r (D) Neither 1 nor2/sat 1, 9 & 2

Which one of the following was not a part of the dhamma of King Ashoka?/fr=fafea ¥ & sla—r,
YIS ANE S & BT HRT ] AT?

(A) Honouring the king/ I1<iT &1 €19 &= (B) Tolerance of religions other than one’s
own/ s+ w I e gt & ufa afFwparn

(C) Respecting Brahmanas /et &1 w#==(D)  Promoting the welfare of his subjects/ sra+i
BT USIl & STl &l derdl ol

Which one of the following Harappan sites was a specialised centre for making shell
objects?/fr=ifaRad § 4 Sl9—a1 gswWr wid WU 31 axg¥ -1 & fog falRre a7 a1?

(A)  Lothal/<iterar (B)  Balakot/atem®ie

(©)  Amriferth (D) Kot Dijifate <ish

Which one of the following colours may be obtained by combining green and red colours?/ /&R 3ilR
a1 ¥ &l e o freafafaa @ sia—ar 7w fear s aear 372

(A)  Blue/ ften (B) Magenta/ #ster

(C)  Pink/ e (D)  Yellow/ den

Which one of the following regarding density of water at atmospheric pressure is correct ?/ argHse™
JME R Od @ "4 & 99 A ffafaa 9 @ s wd 22

(A)  Density of water at 4°C is 1000 kg/m3./ 4°C(B)  Density of water at 0°C is 1000 kg/m3./ 0°C

W S &I 'ied 1000 kg/m3 &tar 2 W ol &I '+ied 1000 kg/m3 &tar 2 |
(C)  Density of water at 0°C is 100 kg/m3./ 0°C(D)  Density of water at 4°C is 10 kg/m3./ 4°C ux
R wid @1 '-ied 100 kg/m3 giar 2 el &1 u+ca 10 kg/m3 grar 2|

A current of 1-0 A is drawn by a filament of an electric bulb for 10 minutes. The amount of electric
charge that flows through the circuit is/ta fasieh & 9ed &1 dq 10 e @ faw 1.0 A arT Eigar 2 | uRu
H ¥ yarfed g ard dggd amdw &) #@rAn fead  H?

A O0-1cC (B) 10C

(C) e600C (D) 800C
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A glass prism splits white light into different colours. This phenomenon is called dispersion of light by
prism. Which one of the following statements is correct?/ /ve ®fa &1 fon wdad e & A= G §
faws ®var 21 39 aRuer &1 iow gRT uerer &1 faguer (eusf=) ser war 2 | fFr=fafaa & @ si9—ar soF

&l 8?
(A) Red light will deviate the most and it is(B)  Violet light will deviate the most and it is

because of the reflection of light./ w&rer & because of the refraction of light./ y&rer &
A & HRU ATd YBI &1 gaiftre faged IJuadd & SR TN U &1 A4t Qg
BT | B |

© Red light will deviate the most and it is(D)  Violet light will deviate the most and it is
because of the refraction of light./ a®rer « because of the reflection of light./ w®rer &
IUGd ® BRUI AT UBIT T Gaifers fagem WREAdd & SRV T uSer BT watte fageq
B | BT |

According to the New Cartesian Sign Convention, which one of the following is correct in respect of
the formula %= %+% where symbols have their meanings? /A¥ @rdifa fas uRurdl (New Cartesian

Sign Convention) & AR g3 %=%+% » 9y A frafafea 4 @ sla—ar | 2, @it sdhal @ A

amr=g 3ef &7

(A) It applies only to spherical mirrors./ g @9«(B) It applies only to spherical lenses./ ¥ ®ad
Mo gdol W @y gar 21 Mol Al W A ghar 2 |

(C) It applies to spherical mirrors as well as(D) Itis an invalid formula./ @8 v& 3= g3 2 |
spherical lenses./ ag W wdul @
|-t Mefta d=al i A arg gar 2

Which one of the following statements is Not correct for light rays? /serer fezen & fay fafaleaa & @

PIT—AT B W) TE 27

(A) Light travels at different speeds in different(B) Light travels at almost 300 million metres

media./ y@re, RE—fRw aweas 4 Re-RE T« per second in air./ W&Te, A d THT 300
/T BT B fafems Hier ufay Advs @ gt F I BRal
2l
© Light speeds down as it leaves a water(D) Light speeds up as it leaves a glass
surface and enters the air./ were, S & surface and enters the air./ uare, <@ €
S @) Hdg Bl AN Al © IR qg d ydw Pid B Gdg DI ART AT 2 R aY A g
Far 2, dl Sua) arel &Rl gl ol 2 Yl B, dl U@ arel &Rl g8 ot 2

The gaseous product of a process in plants is a requirement for another vital process that releases
energy. Given below are four combinations of the process and product. Identify the correct answer.
[atal #, f&N v ufear &1 A4 Sare, N =1 Sla ufba & fog smaws 2, e oaf s =idt 21 =
39 ufhar iR S @ IR "AloA fig v & | w9 SR g

(A) Respiration and Nitric oxide/zawst s&ilk(B)  Transpiration and Water vapour/ arsqieisi=

aisfe® Afaarss 3R STe—arsg
© Photosynthesis and Oxygen/ uarei—%zasv(D)  Germination and Carbon dioxide/ 3igru
I IC NI e IR P SIATHNITSS

The image we see in plane mirror is/gw wsad <dor # i ufafee <@d 2, 98
(A) real and thus can be photographed./(B) virtual and nearer than the object./ amrhi

Hﬂﬁhgﬁmésﬁ?wmwﬁﬁa@ﬁ%ﬁm glar 2 R fae &) gan 9 affe fee gl

adl 2 | 2

(C) virtual and is laterally inverted./ smarft gla1(D)  real but cannot be photographed./ arfas
2 AR yreda: Seer BT 2 | glar 2 feg Sua! wicl & A o1 aadl 2

Numerically two thermometers, one in Fahrenheit scale and another in Celsius scale shall read same
at/td wR-EIse dupd R gu¥ Afeway aupd & < auEfal § dea: e auuE ) teaa uedie
ghn?

(A) —40° (B) 0°

(C) —273° (D)  100°

Which of the following are the primary colours of light?/ /fr=ifaflaa & & yerer & mafie 1 sia—a 2
(A)  Yellow, Red and Green/ den, «ra @ik &1 (B) Blue, Red and Green/ i, arat @il &1

(C) Violet, Red and Yellow/ i, aral &k fta1(D)  Indigo, Violet and Green/ sy, dv=h @ik
BRI
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82.

83.

84.

85.

86.

87.

Which member of the Constituent Assembly proposed the resolution that the National Flag of India
be a “horizontal tricolor of saffron, white and dark green in equal proportion”, with a wheel in navy

blue at the centre?/ TEYUTA TAHT & EHT TETT J UTATd I@T AT F HARA HI AT asT haRAT”,
The 3R TR T W1 BT FAT U § ORI Teh FHAT 30T H @lan *, Toraehr g & ANGar e
&2

(A)  Jawaharlal Nehru/STaTeX oTel Je® (B)  B.R. Ambedkar/dl 3R 3FIZ
© Rajendra PrasadRToleg UdTG (D) sardar Vallabhbhai Patel/ EER TeAHNNTS
e

The superintendence, direction and control of elections in India is vested in?/ %R & IATAl

3refreTor, EUS 3R AT Afea ¥

(A)  The Supreme Court of Indiay #Ra @1 (B)  The Parliament of India/ R H1 FaE
Halea =arTer

(C©)  The Election Commission of India/ #Ra(P)  The Chief Election Commissioner/ qLY
fedTae 3t AT YR

Who among the following are the two civil servants who assisted the Constituent Assembly in

framing the Constitution of India?/ DG d ¥ P &I THAT Jdd & Seeld AR & TEYTS

B TAA A FEYUTT THT H Feradr Hr A

(A)  B.N. Rau and K.M. Munshi/ & ta 15 (B)  S.N. Mukherjee and Alladi Krishna-swamy

it % T e Aiyar/ TH. U H@l 3R Hedrdl .Heor-
7 T 3R
© B.N. Rau and S.N. Mukherjee/ & Te 5 (D)  KM. Munshi and Alladi Krishna-swamy
3 T TGS Aiyar/ &. TH FaraiaRl AR ferdr Hoor .
3T

The major part of Central Asia is dominated by which one of the following language families?

(A) Indo-European (B) Sino-Tibetan

(C)  Austric (D)  Altaic

Who founded the ‘Seva Samiti’ at Allahabad in 1914? / 1914 H Sclleldliq H Sam Far gAY ’Hr TATTAT
Ergel dT?

(A) Hridayanath Kunzru/ gcde1d gﬁﬂT (B) G. K. Gokhale / ST & aT@el

© Shri Ram Bajpai / #T I ATeTUAT D) 1.8 Sapru/ & o qY

The creation of a Federal Court in India was advocated by which of the following Acts/Commissions? / AR

# e =aTe & 0T f awon SEEamad & @ B HREIH / T gary @ g oA

(A) The Government of India Act, 1919 / sz (B) The Lee Commission, 1923 / 1923 & off
PR HMTATH, 1919 HHIR

(©) The Government of India act, 1935 / SHRFT(D) The Indian Councils Act, 1909 / T gug
AN H®TATH, 1935 AT, 1909

The ‘Tatvabodhini Sabha’ was established by / ‘dccaalRIAT T CART FATMET FhIAT 14T AT
(A) Devendranath Tagore in 1839 / SdeaTTY &9 3(B) Keshab Chandra Sen in 1857 / 1857 & 2

1938 & ag o
(©) Akshay Kumar Datta in 1850 / 1850 # 31&7J (D) Dwarakanath Tagorer in 1840 / 1840 &
FAR Gl CARBTATY IR
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The work Siyar-ul-Mutakherin, which describes the Battle of Plassey, 1757, was written by / cardr &r Flgl'é,

1757 T gUTel el dTell e HIAR-3-HAWRA o F@r A7
(A)  Ssalabat Jung / FefTere ST (B)  Qasim Khan/ @I0E# @rel
(C)  Ghulam Husain / T[T {i-@?-r (D) Ram Mohan Roy / TH Higd T

Who believed that the Russian designs were ‘an imminent peril to the security and tranquility’ of the Indian
Empire in 18367 / IRE HT (6 & Bollge 1836 # HRATT WHGY Hr FI&T 3N AT & ©HT
TUh 3MMHedd G AT?

(A)  Lord Auckland / ii$ 3iTerdls (B)  Lord Palmerston / &li$ UreREe

(©) Lord Canning / CIERCAGE (D) Alexander Burnes/ 3Toldaist dad

From which one of the following factory sites were limestone and chert blades mass produced and sent to
various Harappan settlements in Sindh? /A mmEd # @ o9 a1 FREEr T eIl TR IR =€
oIS & T3 UA WX ScUree ORAT I1T 3R 0HY 3 [HBfed §sudl aieadl # Aol e
(A) Sukkur and Rohri Hills /ﬂ?-l-_rf{ 3R ﬂ%ﬁ(B) Khetri in Rajasthan /ITSTEATA F Wag

fReq

(C)  Chagai Hills /TS e (D) " Hills of Baluchistan/aeiaedTe &Y UgIEAT

Advantage(s) of tectonic activity in Iceland include(s) :/emsads # faadfe wfafafesr & ol o wufva & -
1. Source of natural geothermal energy/ wdfde w—adE FHul w1 Ha

2. Creation of new land/ T q BT SR
3. Attraction of tourists/ sl EJ ferg JATHY U
Select the correct answer using the code given below :/-\a f&g ¢ fe &1 91T S ¥ IR gAY -

(A)  1only/ a1 (B) 2and3only/ #9e 2 @ik 3

(C) 1and3only/ ®aa 1 3k 3 (D) 1,2and3/1, 233

Which one of the following planets has the highest density?/fr=ifafaa & @ foa ¥z &1 g waifte
37?

(A) Mercury/ =1 (B) Venus/ g

(C)  Jupiter/ geufa (D)  Earth/ gedl

Which one of the following is the longest Latitude?/fr=ifaftaa # 4 ls—war drefawq siaier @ 2

(A) 90 degree Latitude/ 90 f&uT ez (B) 23.5 degree Latitude/ 23.5 fSiY sierier
© 0.0 degree Latitude/ 0.0 fsHY stami=n (D)  66.5 degree Latitude/e6.5 fsH starizr
Which one of the following is not a minor plate?/fr=fefaa ¥ @ Hl9— g we 71 27

(A)  Cocos Plate/ siara wie (B) Nazca Plate/ ot wie

(C) Caroline Plate/ @terga wie (D)  Antarctic Plate/ sicafes wie

If it is 12:00 Noon in India, on which meridian will it be 7:00 am of the same day?/ afs wra d U=

12:00 99 &1 99 @, d1 S a7 frw IralaR o gag & 7:00 §oI?

(A) 7.5 degree E. Longitude/ 7.5 &t qd qwniax (B) 7.5 degree W. Longitude/ 7.5 f&ift uf¥am
ERIGH

(C)  75degree E. Longitude/ 75 f&ift yd qeiax (D) 75 degree W. Longitude/ 75 fefY uf=m
ERIGH

In a dicot pot herb, Vaseline/vegetable oil was applied on the upper surface of one leaf (Experimental
leaf 1) and on the lower surface of another leaf (Experimental leaf 2). Vaseline/Vegetable oil was not
applied on the control leaf. The plant was deliberately not watered for several days. Which leaf will
dry up last?/ et ¥ @t g fgdiousl e & e wd (e g 1) @) $u9) 9ds W) d9els/aawfa dd
AR fFN g ud Efe g 2) @ e waw w dwdN/aTwfay dd v waEm) fREEY o wR
Fel/aafa da 98 v AT 39 WY B AE-gEaR by e 9@ e 9 fear wan ) sla—ar uan siq #
q@m?

(A)  Experimental leaf 1/ uraifire u<r 2 (B)  Experimental leaf 2/ uraifire ur 2

(C)  Control leaf/ frE=oT g=n (D)  All the leaves will dry up simultaneously/
i U<l U wrer gE
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Transformation of Meristematic cells into specific permanent tissues occurs by the process
of fawsatas) @R &1 falkre wrll Haal ¥ wuiawer few ufear @ grT glar 27

(A)  Cell differentiation./ ®ifr&1 fmiga (B)  Cell division./ s fasre=

(C)  Cell multiplication./ @1 o (D)  Cell regeneration./ sI1f¥r&T gasta

Which one of the following acids is predominantly found in tomatoes? /fr=faflaa & @ dlv—ar s
cHIeR # W@ w9 | YR STl 27

(A)  Acetic acidRdifes s (B) Tartaric acid/ eréR® sra

(C)  Oxalic acid/siiaifas ar< (D) Lactic acid/dfdes 3

Which one of the following statements about dihydrogen (H,) is not correct?/siggsgiea (H,) & wds
# frafafaa 4 @ sia—u1 soa wd a8 272
(A) H, is lighter than air and insoluble in(B) H, is inert at room temperature due to high

water./H, ag ¥ gea! gl 2 R oo # H — H bond dissociation enthalpy./ 8=a H —
sifaeta Bt 2 H sy fagtes wodel @ &rRor wm=g v H,
sifpa il 2
(C) H, reacts with alkali metals at high(D) A mixture of NO, and H, is known as
temperature to yield metal hydrides./ H, Syngas./ NO, 3k H, &1 fasor Rdte & wu
Sed a0 & organ & wrer afdfean A ST o @ |

ot 2, R a1g giggss 99 2 |
Solder is an alloy of/aieer fr=ifaRaa & 4 fe=iar fiseng 2872
(A) Cuand Sn./Cu sk Sn. (B) FeandZn./FeakZn
(C) Pband Sn./Pb six Sn. (D)  Agand Zn./ Ag sk Zn.
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Timing: 120 minutes CENTURION DEFENCE ACADEMY M.M: 50
TA (MATHS + REASONING) TEST PAPER

MATHS /NUMBER SYSTEM
1. The unit digit in the product (77! x 6°° x 35%) is
(A) 6 B 2
Cc 4 d) 1
2. By adding x to 1254934, the resulting number becomes divisible by 11, while adding y to 1254934
makes the resulting number divisible by 3. Which one of the following is the set of values for x and

y?
A x=1Ly=1 B =x=1y=-1
© x=-1y=1 (D) x=-1y=-1
3. If% =2 % _ then the value of £2*< is
A 3 (BY 32
(C 6 Dhe 4
4. The numbers x, x + 2,x + 4 are all primes so x is
A 3 ® 2
© 11 (D) 17
5. If n is a positive integer, then what is the digit in the unit place of 32" +1 4 22n+1 2
A 0 ® 3
<€ 5 o) 7
6. Let ‘@’ and ‘b’ be natural number, not necessarily distinct. For all values of ‘@’ and ‘b’ the natural
number would be
(A) (a+Db) (B) a/b
© a—>b (D) log(ab)
7. Consider the following statements:

I. The product of any three consecutive integers is divisible by 6.
II. Any integer can be expressed in one of the three forms 3k, 3k+1, 3k+2, where K is an integer.
Which of the above statements is/are correct?

(A)  Onlyl (B) Onlyll
(C©) Bothlandll (D)  Neither I nor Il
8. If the sum of two numbers is 18 and sum of their square is 164, then the smallest number is
(A 8 B) 6
(c 12 (D) 10
9. What least value must be given to *, so that the number 84705*2 is divisible by 9?
(A 0 B 1
© 2 (O) 3
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Consider the following statements:

I. In a given whole number, if the sum of the odd numbered digit is equal to the sum of even
numbered digits, then the number is divisible by 11.

Il. In a given whole number, if the difference of sum of odd numbered digits and even numbered
digits is divisible by 11, then the number is divisible by 11.

Of these statements

(A) Only | is correct (B) Both | and Il are wrong
© Only Il is correct (D) Both | and Il are correct
The number 444 444 444 444 is divisible by

A 3,11 B) 3,7
() 51 () 911
Let X be a real number such that 0 < x < 1. Of the following the correct statement would be

(A)  the positive square root of x isequaltox (B)  the positive square root of x is greater than
X

(C)  the positive square root of x is less than x (D)  the square of x is greater than x
Which one of the following is a prime number?

(A) 161 (B) 171

© 173 (D) 221

What can be said about the expansion of 212" — 64" where n is a positive integer?
(A) Last digitis 4 (B) Last digit is 8

© Last digit is 2 (D) lasttwo digits are zero

All prime factors of 182 are

(A) 2and 13 (B) 2and7
(C©) 2,7and 13 (D)  None of these

If n is a natural number than v is

(A) always a whole number (B) always a natural number
(C) sometimes a natural number and(D) always an irrational number
sometimes an irrational number

235.235235235........ is a/an
(A) integer (B)  whole number
(C) rational number (D) irrational number

Consider the following statements:

A number a;a,aza, is divisible by 9, if

l. a; + a, + az + a4 + as is divisible by 9.

Il. a; —a; + a3 — a4 + as is divisible by 9
Which of the above statements is/are correct?

(A)  Onlyl (B) Onlyll

(C©) Bothlandll (D)  Neither I nor Il

What is the total number of prime number less than 100?

(A) 25 (B) 30

Cc 24 (D) 26

Which among the following is the largest four digit number that is divisible by 887
(A) 9988 (B) 9966

(C) 9944 (D) 8888
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Which one of the following is rational?
(A)  Area of a circle with radius 1/ (B)

(C)  Circumference of circle with radius 1/m (D)
Which one of the following is a correct statement?

(A) Decimal expansion of a rational number is(B)
terminating

© Decimal expansion of an irrational number (D)
is terminating

The unit digit in the product is (281 x 15 x 16 x 18)

(A) 6 (B)
€ 5 (D)
The prime factor of 2310 are

(A 2,38,5711 (B)
© 2,347 (D)
The unit digit in the product (127)17° is

A) 3 (B)
<€ 7 (D)
What is the last digit in the expansion of (2457)7°4?
A) 3 (B)
Cc 8 (D)
In between two rational numbers, there are

(A) a finite number of fractions (B)
(C)  even number of rational (D)

Radius of circle with areal/n

Radius of circle with circumference 1/x

Decimal expansion of a rational number is
non-terminating

Decimal expansion of an irrational number
is non-terminating and non-repeating.

o

2,4,6,7,11

None of these

w ©

\'

precisely two fractions
infinitely many numbers of fractions to
previous column

A ten-digit number is divisible by 4 as well as by 5. What could be the possible digit at the ten’s place

in the given number?

,4,60r8

or8

1,2,4,6
0,2,4,6

a whole number

a negative integer

an integer
None of these

atleast one prime divisor
one and only one prime divisor

7
None of these

(A) 0,1,2,40r6 (B)

(C) 2,3,4,60r8 (D)
Zero is

(A) a natural number (B)

(C)  apositive number (D)

If ‘r' is a non-zero rational number and 'x'is an irrational number, then the product rx’is
(A) a rational number (B)

(C) anirrational number (D)
Every composite number has

(A)  no prime divisor (B)

(C) atleast two prime divisor (D)
When n is even, the product n(n + 1)(n + 2) is divisible by
A 24 (B)

€ o (D)
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

Consider the following statements:

If p is a prime such that p + 2 is also a prime, then
I. p(p + 2) + 1 is a perfect square.

II. 12 is a divisor of p + (p + 2), if p > 3.

Which of the above statements is/are correct?

(A)  Onlyl (B) Onlyll

© Both I and I (D)  Neither I nor I
If 'a’is an odd integer, the number a(a? — 1) is divisible by

A 8 B) 32

< 24 (D) 16

Consider the following assumption and two statements:
Assumption A number ‘ABCDE’ is divisible by 11.
Statement | E — D + C — B + A is divisible by 11.
Statement | E—-D+C—-B+A=0

Which one of the following is correct?

(A)  Only statement | can be drawn from the(B)  Only statement Il can be drawn from the

assumption assumption
© Both the statements can be drawn from the(D)  Neither of the statements can be drawn
assumption from the assumption

If ‘@’ is an even positive integer and ‘b’ is an odd positive integer, then which of the following
statements is true?

(A)  a(b—1)iseven (B) a(b-—1)isodd

C) (a—1(B-1)iseven (D) (a—1)biseven

A three-digit number has digits h, t, u (from left to right) with h>u. If the digits are reversed and the
number thus formed is subtracted from the original number the unit’s digit in the resulting number is
4.

What are the other two digits of the resulting number from left to right?

(A) 5and9 (B) 9and5

(C) b5and4 (D) 4and5

Which one of the following is correct?
The number 222222 is

(A) divisible by 3 but not divisible by 7 (B) divisible by 3 and 7 but not divisible by 11

© divisible by 2 and 7 but not divisible by 11 (D)  divisible by 3, 7 and 11
Which one of the following numbers is not a square of any natural numbers?

(A) 5041 (B) 9852

(C) 1936 (D) 6241

When n is divided by 4, the remainder is 3. What is the remainder when 2n is divided by 4?
(A) 0 B 2

€ 6 O) 3

The product of two number is y/x, if one of the number is yx—z then the other one is

(NS B X
y y

© 2 (D)
x3 x?2

A number is divisible by 25 only, if

(A)  the last digits of the number is zero (B) the last digit of the number is 5

(C) the last two digit of the number is divisible(D)  the last two digit of the number is divisible
by 5 by 25
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43.

44,

45,

46.

47.

48.

49.

50.

51.

The unit digit in (727 — 3% is

A O B 7
€ 4 (D) 6
If 42*8 is a multiple of 9, then the digit represented by * is

A 0 | 1
<€ 2 (D) 4

In a division operation, the divisor is 5 times the quotient and twice the remainder. If the remainder is
15, then what is the dividend?

(A) 175 (B) 185

(©) 195 (D) 250

Of the following

.1.5 . V2

. 2 +3V5 IV. V4

The number that are not rational are

(A) land I (B) Iland IlI
© | only (D) I, llland IV
A prime number greater than 11 will never end with

(A) 5 (B 7

© 9 d) 1

Consider the following statements

I. A natural number is divisible by 2, if its last digit is divisible by 2.

II. A natural number is divisible by 2, if its last digit is either zero or 2.
lll. A natural number is divisible by 2, if its last digit is even.

Of the above statement

(A) | and Il are correct (B) I and IIl are correct

©) Il and Ill are correct (D)  All of these
The product of a rational number and an irrational number is

(A)  anatural number (B)  anirrational number
(C) acomposite number (D)  arational number
The least prime number is

A O B) 2

© 3 O 1

REASONING /MISCELLANEOUS/IAF X

Choose the correct alternative from the given ones that will complete the series. /6T 31T el H &
TN Hhed Tl ST ATl T I HM|

24, 60, 120, 210, ?

(A) 300 (B) 336

(C) 420 (D) 525
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52.

53.

54.

55.

56.

57.

58.

Select the related words/numbers from the given alternatives./f&T 37T Mol # ¥ RIT Aee/ TE&AT

&l giaT|

?:63:.08:26

(A) 12 (B) 9
(€ 18 (D) 15

Arrange the given words in the sequence in which they occur in the dictionary. / 7&T 31T QTeg @l 38
he H cIATEUd B [T I AUegepIr H B

1. Storm

2. Strap

3. Strangle

4. Stamped

5. Satire

(A) 51432 (B) 51342

(C) 54132 (D) 53412

In a code language, COMPUTER is written as OCREPMTU. How will DAUGHTER be written in the
same language? / v @ois s 3%, COMPUTER @t OCREPMTU & ¥u d# férar siiear 81 DAUGHTER @1

NS N

3t ommar 3 B3 ferar Seen?

(A) READTHGU (B) ADTHREGU

(C) ADREGUTH (D) ADERUGTH

Select the related words/numbers from the given alternatives./fGU 91T el 3 & TARIT s/ TEAT
&1 gfaT|

Country : President :: State : ?

(A)  Chief Minister (B) Prime Minister

(C)  Speaker (D)  Governor

TR (=g oh TATA UX T T FE&IT 3TN |/What number will come in place of the question mark
15:32::32
(A) 66 (B) 56

(C©) 49 (D) 48

Select the correct mirror image of the given figure when the mirror is placed to the right of the figure. /
fow s1e stips bl A2l GUul B DI RIe DI S GUUI DI DI D SIS 3R I STl 3

5%
(A) / (B) \

(©) D) —>

N

Ife I & [FT I637 al A & 1T/ If the calf for the cow is for the sheep

Tm

(A) g/ baby (B) &/ colt
©)  FAFAV lamb (D)  aEay wolf
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59.

60.

61.

62.

63.

64.

65.

66.

67.

Pointing to a lady, Diwakar said, "Her mother's only grandson is my son.” How is that lady related to
Diwakar? / Teh Ffeell &1 3T AT 9t g, ferament = e, "SHPT AT BT ThATT UIdT 1T JeT &1" I8
Ffter fgare & H8 Famd &2

(A)  Aunty (B) Sister

© Mother (D) Wife

In a class, P has more marks than Q and R does not have the least marks. S has more marks than T
and T has more marks than P, who among them will have the least marks? / T gaT &, P F qrg Q &
3TIRIEH 37eh @& 3N R o UTH el & A 37 A6 &1 S T A HRIH 3eh § IR T & P & Tl 3 IRIh 3ih

©, 3 H EhAh UTH el H el 37ch Biar?

A P B Q

€ s o T

Choose the correct alternative from the given ones that will complete the series. /f¢T 71T mdhedl H &
TEN [Hehed Tl i ATl T QI HIM|

6, 13, 28, 59, ?

A 111 (B) 113

(€ 114 (D) 122

Select the word pair in which the two words are related in the same ways as are the two words in the
following. / QI<g, ST T T Y TG &Y Aeg, 38 IR J TR & 1 0 fAFamingd 3 aF g &

Vision: Blindness
(A) Cholera : Epidemic (B) Old age : Senility

© Deaf : hear (D)  Audition : Hearing

Three of the following four letter-clusters are alike in a certain way and one is different. Find the odd
one out. / TAFAIIET IR UF-HE # & clict Teh AT s & Teh o8 € HR Tep 370197 | HWH Tei
(A) XAzC (B) PRRT

(C) CDDE (D) LMNO

Insert the correct mathematical signs in the following equation 13 3 2 1 = 15 / f[AeAmIEad TefiehoT
1332 1 = 15 & G AT Hobel 3Tel

A x =+ B +- x

© + -+ (D) = x —

Pointing to a woman, a man said, "The only brother of his only son is my wife's brother." How is the

woman related to the man/ Teh FfeelT & 3R HER P TT Teh J3Y & e, “SHD el 15 BT Il
A U BT 61 & |” T8 Al 38 G20 A FhEl YHR FFERIT ¢

(A) ard/ mother-in-law (B) qa3 T I%<7 / Father in law's sister
C)  FEN/ Aunt (D) &Y &fr e/ mother's sister

Select the combination of letters that when sequentially placed in the gaps of the given letter series
will complete the series. /38Rl & AHIstol DI WRIel D2 Sl [ GU s1 38R Yael D 3iARIeT i PlID Hu A ]
STol U2 2Rl Pl U DIl

bac cab cd a ac ca

(A) bdabc (B) dcbac

(C) cadbc (D) dachd

TILAL to LALIT in a code language, then how to write RAHUL in that code language? /Eﬂv‘é’fﬂg‘c" HTT
& LALIT @Y TILAL T 38 ghe 3791 & RAHUL &1 8 [T SITeaT

(A) LUHAR (B) LUHRA
(C) RAHLU (D) LURHA
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68.

69.

70.

71.

72.

73.

74.

faFt ATt # 3197 U Hi-AT @eT| BIFET- What will be the next Term in the following series------
93.7,176, 297,378, ..........

(A) 459 (B) 427
() 387 (D) 403
Three of the following four numbers are alike in a certain way and one is different. Pick the number
that is different from the rest. /forFaifei¥aa ar Jiz=msil 3 3 diet v forfa 31 3 eire 8 iz U 3IcioT 3| a6

oia ol Sil aIfcpeIl A 3rerel Bl
(A) 338 (B) 217
(C) 28 (D) 65

If PRADESH is written as 1234567, how will PARAS be written?/377R PRADESH @t 1234567 [H/@Tr
ST &, Y PARAS T h) [51WET SITTaN?

(A) 13235 (B) 13236
(C) 13536 (D) 14436
Two statements are given followed by three conclusions numbered |, Il and Ill. Assuming the

statements to be true even if they seem to be at variance with commonly known facts, decide which
of the conclusions logically follow (s) from the statements. / gl @ere dier foream |, 1 3z |1 &g 16 & Dot

DI AT Alolol U3 off A q AeII0=IT: ST el & Are! fdRur w2 8, Al ok ¢ fdb derell 3 A dlor 31 forcapy AIfdbd
U A ORIl TIAI 3l

Statements: / oI

No crow is a bird. / @13 @31 edb ustl o1t 2

All birds are animals. / sfl usft gy 3l

Conclusions: / forso;

l. Some animals are crows. / ©& Slleld? ®Id 3l

Il. Some animals are birds. / ®® Sitoraz ustt i

[1l. No animal is a crow. / @Is Silela? D13 olat al

(A) Only conclusion | and Il follows. /&ac(B) None of the conclusion follows. / forsad @1

foreap | 3fi= 111 SroRRver B 3 @IS i 31ofrRuI oldl w2l &
(C)  Only conclusion Il follows /dae forsmd 1II(D)  Conclusion Il and either conclusion | and 111
3IOAVI DAL & follows / forcpd Il sfiz forepd | sfiz I
forFaferiRaa &

udl & T ‘B A g9ft| 39Tel HedTg & 387 feat Sraraeh geft| e et Imar § a iarael & 9’

feaT arg - & @em / 1t will be 'Hoi Ashtami' on the day after tomorrow. This day of next week will
be Diwali. If today is Sunday then what day will it be four days after Diwali

(A faar /Saturday (B)  ggrufdar /Thursday
(©)  pPaR /Friday (D) =3 @ 1S & /None of these

Select the one which is different from the other three responses./ T &I IS P Sl T did

T ERIT3T & 37697 §
(A)  JIMPS (B) MPSL
(©) DGIM (D) UXAD

Choose a different shape / B¥e 3TTehfal @l giaw

VI IX]IL |

(A) (B) (C) (D)

A A (B) B
© c M) D
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75.

76.

77.

78.

79.

80.

In the following question, select the related word pair from the given alternatives. / fFTEIET T2
&, feT a7 meheul & A HRI Ase; 7 Y AT

Fire:Burn::?:7?

(A)  Water : Drink (B) Wood : Trees

© Ice : Freeze (D)  Flower : Rose

Two different positions of the same dice are shown. Which numbers will be at the top if 4 is at the
bottom? / o &t urRtr P S 3emI-31etel Felol {SAe 318 81 Al 4 el offcl & dl Dlol Al AT ATy HUR BoA1?

<) 5>
Neng
A 3 (B) 6
© 5 (D) 1

Ram’s school bus was facing north — west when it reaches his school. After starting from his house
took one left turn, one Right turn another left turn to reach. If bus pick up Ram and starting towards

East direction then in which direction bus facing to reach school. / I &Y Fhel TH STd SeTch Fpel eh
UEdc § Y S - UTRES ST HIHAT HIAT USAT AT| 30 TR A LE A & TG TH AT AN [FT, Th &0
S GER AT AN W Ugd= & B Ffe 56 T Y 38T & 3R g fem 61 3 & @ely & A Tped Tga
& 1T R TS 3 9 P TTHAT AT IS ¢

(A)  South-east /GETUT-qd (B)  North-east /5eeR-qd

(©)  North /3R (D) south /emEToT

Which two sign should be interchanged in the following equation to make it correct? / sz 33t doiol B
fere forotferRaa ftapzur 3 fdbol A1 UsCI3H I UITUR Adiel Bloil AIBE?

10+5+10x8-10=16

(A) +and x (B) —and +

(C) =+andx (D) — and -+

Find the figure that will come next in the following figure series. / a& 3Tpid AT ST S FAFATIOEA
3T srgel 3 31T 3mesf|

=l
(A) @ (B)

(©) (D)

Find the wrong number from the given series/ &1 IT$ 3TelT ¥ Ield HEAT AT HiToTT
1236, 2346, 3456, 4566, 5686

(A) 1236 (B) 3456

(C) 4566 (D) 5688
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81.

82.

83.

84.

85.

86.

The sequence of folding a piece of square paper (figures X and Y) and the manner in which the
folded paper has been cut (figure Z) are shown. How will paper appear when unfolded? /di®lz ®ee

P uD cps (3ips X 3R Y) Pl Alsol oI b AR BRI A3 A ST g3 DEISI DIel 9RI 3 (RET $xd)| ARl 3ol 1R

TR B f&aars Sen?
e —
)
=
N
X Y 7
A ® [Ta
Pe® o CA:
L= ]
) o0
©) (D) S
g N
BRI,

Select the missing number from the given responses./ &1 18 UfAERAT3 3 F STTAT TEIT BT TTA B

552
2 |41
8 | 310
40 (30| ?
(A) 10 B) 12
() 13 (D) 20

10 I3 10 RT T 10 & 3 @il &, AT Uh I Teh aRT 918 [Ehdlel fed 3 @9 2/ 10 cows eat 10
sacks in 10 days, then how many days will one cow eat a sack of grass?

A) 1 (B) 10

Cc 8 (D) 100

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series. / Teh Te I[H &=t o H1Y & SiTell & fGT a0 [Eehedl & & TEY Eehed P TheT Bl

S ST B T |

BT, DR, FP, ?

(A) HO (B) HN
© NH (D) OH

D is son of C and brother of E and E is niece of F. C is sister of B and aunt of A. Father of B has two
children i.e. one son and one daughter. If A is son of F then how is F related to C? /1, 3ft d1der 8 3z 3

@I A1S 2 32 S, vw b sclsh 31 «ft, ft bl asor 8 3z &t D arclt & &) acad B, Al v JeT 3 v ¢t AR v, vw @I
get 3 dl vw, 2 A A ddfea 8?2

(A)  Cousin-brother/ BT "1 (B)  Aunt =TT=h

(C)  sister-in-law/ $Tafr (D) sister/ agat

Choose the correct alternative from the given one that will complete the series./ ar 7J'I'$,L &;EF-II T g
[Eehed el ST el T GRT T |

9,17, 31,57, ?, 205

(A) 102 (B) 104

© 107 (D) 109
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87.

88.

89.

90.

91.

92.

93.

Pointing to a lady a man says that she is the only daughter of my son’s maternal grandmother. How

is lady related to man?/WﬂﬁﬂT@fﬁTg?Wﬁﬁ?W&ﬁ?ﬂm%Eﬁa%’ma‘éaﬁrm?ﬁiﬁr
Sehollcl 9E1 ¥ T 720 & ) HAmIT §2

(A brother/s$ (B)  sisterfaea

©)  wife/aeht (O)  mother/ &

Pointing to a lady on the platform, Manju said, “She is the sister of the father of my mother’s son.”
Who is the lady to Manju?/mwwmfﬁrw?@’?wmgm o[ A el "aE AU Al & 9 & T
B T 1 "] 5 [T BT AR 2

(A)  Mother/t (B)  sister/aga

©  AunvaTh (D) Niece/srehsit

Select the one which is different from the other three responses./ T& &l IS P St =T didd
ufAnRaT3iT & 37T B

(A) 405 (B) 60-12

(C) 324 (D) 88-11

In the following question, select the odd word from the given alternatives. / fAeamm@d ue= &, fgu
9T [HehoUl # I FUH e Bl AT

(A) Ludo /e (B)  Chess/ eratat

(©)  Polo/arelr (D)  carrom /&=

You go 7 m North, turn right for 3 m, then turns right again for 7 m and then go to the left. In which
direction, are you now?/ 3T 7 #IeX Sk # ST €, 3 HIeX & (BT T FS &, I 7 HIeT & T I @

aTd F{5d & 3R IFT a1 3R STl &1 37 31T g fererm & 82

(A) North/3cX (B) South/gEToT
©) East/qd (D)  westafRa#

In a row of girls, Rita and Monika occupy the ninth place from the right end and tenth place from the
left end, respectively. If they interchange their places, then Rita and Monika occupy seventeenth
place from the right and eighteenth place from the left respectively. How many girls are there in the

row?/ ISERAT &Y Teh Ul &, Il 3R Alfda gifet o A Ald T W 3R 90 81 3 ¢8d T W &
Ife I U TAAT A Tt & &, dr A 3R AfAHT shaAen: g F TFed TIF W AR aF F 36Red
TITH W B &1 UfFd & Bl TR &2

(A) 25 (B) 26

< 27 (D) Data inadequate

How is my father's sister's son's daughter related to me? / A AT & T&l & d¢ H I JSH Y
TR FFaieud &

(A) BT T8 /cousin sister (B)  o7ciish /Niece
(©)  gga/sister (D) @ /Aunt
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94.

95.

96.

97.

98.

99.

100.

Find the figure that will come next in the following figure series. / @& 3TThfc ¥ BITSTT ST TAFATAIES
3MpT Aol 33T et

=

(A) (B)

© (D)

Select the one which is different from the other three responses./ T &I IS P ST 3T did

UfAERATT & 37T B
(A) Newspaper (B) Press
(C)  Edition (D)  Audition

Three of the following four words are alike in a certain way and one is different. Pick the odd word
out./ foroiferfiaa ar erect 3 A ol v forfa a3l 3 v A 3 3l v 3icwer 3 fwer 916G ol |

(A) Krishna (B) Mahanadi

(C) Tapti (D) Godavari

What will come in place of question mark/ ? ds LFkku ij D;k vk,xk?
Question Images

© ) :::?

Answer Images

o o)

(A) (B) (C) (D)

A A (B) B

© c d) D

If 13 =75 =5731, 27 x 34 = 4372, 15 x 42 = 2451

Then 16 x 36 =%/ If¢ 13 x 75 = 5731, 27 x 34 = 4372, 15 x 42 = 2451 [ 16 x 36 =?

(A) 1636 (B) 6361

(C) 576 (D) 3616

If in a certain language, TEACHER is written as LMKIJNMP. How will HEART be written?/ If¢ T

Afaa smar &, TEACHER & LMKINMP & U # [67@T ST & | HEART & BT SITTan?

(A)  NMAPL (B) NMPKL
(C) NPKML (D) NMKPL
A class of boys stands in single line. One boy is 19" in order from both the ends. How many boys are

there in the class?/ S BT T I Tehol Ul H WST &1 Sl DRI T T oISehT 19 aT §| Hell & Frda

CEGR-¥4
A 27 (B) 37
(€ 38 (D) 39
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ANSWER KEY

A C 26. D 51. B 76. A
2. B 21. D 52. C 77, C
3. A 28. D el C /8. B
4. A 29. B 54. C 79. B
S. C 30. C 55. D 80. D
6. A 31. B 56. A 81. A
7. C 32. A 57. C 82, A
8. A 33. C 58. C 83. B
9. B 34. C 99. B 84. B
10. D 35. C 60. B 85. C
11. A 36. A 61. D 86. C
12. B 37. A 62. C 87. C
13. C 38. D 63. C 88. C
14, D 39. B 64. C 89. B
15. C 40. B 65. B 90. C
16. C 41. D 66. D 91. C
17, C 42. D 67. A 92. B
18. A 43. C 68. B 93. B
19. A 44. D 69. A 94. C
20. C 45. C 70. B o D
21, C 46. B 71. D 96. C
22. D 47. A 72. A 97, D
23. B 48. D 73. B 98. B
24, A 49. B 74. B 99. D
25, B 50. B 75. C 100. B
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